Test Center Name |,.\I
\" A4

Test Date
Test Time 4:30 PM - 6:30 PM
Subject Assistant Engineer (Civil) 3/20

Q.1 In the question statement are given, followed by two arguments, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly
known facts. You have to decide which argument(s) is/are strong based on the
information provided.

Statement : Should the private sector be completely nationalised in India?

Argument | : Yes, the only way to develop the private sector is by nationalising them.
Argument Il : No, because after nationalisation the private sector will operate less
efficiently.

Ans X A.Bothland Il are strong
2% B. Only argument Il is strong
" C. Neither | nor Il is strong
< D. Only argument | is strong

Question ID : 97675518401

Q.2 Ashish cycles 11 km south, then turns west and cycles 8 km, then turns north and
cycles 6 km, then turns east and cycles 2 km, then turns to his left and cycles 5 km.
Where is he now with reference to his starting position?

Ans X A.6km east
5 B. 8 km east
X C. 8 km west
" D. 6 km west

Question ID : 97675518405
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Q.3

Ans

In the question two statements are given, followed by three conclusions, I, Il and lil.
You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : Some cars are scooters.
Statement 2 : All scooters are buses.

Conclusion | : Some scooters are cars.
Conclusion Il : Some buses are cars.
Conclusion Il : All cars are buses.

2 A. Only conclusion | follows
2% B. All conclusions I, Il and IlI follow
«" C. Only conclusion | and Il follows

25 D. Only conclusion | and IlI follows

Question ID : 97675518400

Q.4

Ans

Select the pair in which the words share the same relation as that shared by the words
in the given two pairs:

Maharashtra: Mumbai :: Gujarat: Gandhinagar
25 A. Himachal Pradesh: Chandigarh

25 B. Odisha: Panjim
" C. Kerala: Thiruvananthapuram

< D. Nagaland: Gangtok

Question ID : 97675518393

Q.5

Ans

Richa walks 4 km in south-east direction, then she turns 90° to her left and walked for
another 0.5 km, she then turns 180°. Which direction is she facing now?

25 A. north-east
< B. south-east
25 C. north-west
" D. south-west

Question ID : 97675518406

Q.6

Ans

Which two numbers should be interchanged to make the below equation
mathematically correct?
15+48+3x4-12=39

X A 4,12
X B. 15,48
& C.3,4

X D. 15,12

Question ID : 97675518403

Q7

Ans

Find the missing term in the following letter series :
NR, ,DH, YC

X A JL
X B.KL

& C.IM
X D.HM

Question ID : 97675518391
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Q.8 If RUSTY is coded as PSQRW, then what is the code for FLARE?
Ans X A.EKzQD

X B.CIXOB
& C.DJYPC
X D.ELYSC

Question ID 5518396

In the question two statements are given, followed by two conclusions, | and Il. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : All doors are windows.
Statement 2 : Some doors are gates.

Conclusion | : Some windows are gates.
Conclusion Il : No gates are windows.

25 A Neither | nor Il follows
4" B. Only conclusion | follows
< C. Only conclusion Il follows

25 D.Both I and Il follow

Question ID 5518399
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Q.10 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans

« B.

Question ID : 97675518410
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Q.11 The given Venn diagram shows the number of students in a class who can speak
various languages. How many students can only speak one language?

English

French vav
\o/

Hindi

Ans X A. 18

X B.36
o C.34

X D.16

Question ID : 97675518404 ]

Q.12 If LOCK is coded as 14-13-5-9, then what is the code for PEST?
Ans X A. 18-3-20-18

" B. 18-3-21-18
X C.18-4-21-19
< D. 17-4-20-19

Question ID : 97675518395 ]
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Q.13 Which of the following answer figure completes the series of the question figure?

g * @/ S\ * @/ $\* )
g O #O % )
[® [} o

Ans

XA

XB —$@*
O %
O

X C.

Question ID : 97675518407 ]

Q.14 Select the pair that is related on the same basis to the pair given in the question.
MTA : JQX: GNU :: ?

Ans X A FNY :NML: SKD
«" B.EOY :BLV:YIS
725 C.EMR : DNF : XCB

/< D.ENY : CKD : SMF

Question ID : 97675518394
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Q.15 How many triangles are there in the question figure?

Ans X A.6
X B.12
X c.s8
& D. 10

Question ID : 97675518409

Q.16 Select the option that is related to the third image on the same basis as the second
image is related to the first image.

K B + ¥
B4 (m] : + X :: t = : ?
+ O 3 o (| B == A
Ans

H )
XAl <=

- A

A
xe|< \/

H -

1 A
<<|H 03

= =

= \
X D. El A

(i

Question ID : 97675518408
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Q.17 Arrange the given words in the sequence in which they occur in the dictionary.
1. STALKER
2. STALKED
3. STALLER
4. STAINED
5. STAMPED

Ans X A 12345

X B.21435
& C.42135
X D.12435

Question ID : 97675518392

Q.18 Vishal, Tanmay, Zain, Yashi, Rishi and Manish are sitting in a circle facing the centre.
Rishi is opposite Manish, Yashi is to the left of Vishal who is opposite Tanmay. Who is
to the left of Zain, if Manish is between Zain and Vishal?

Ans 4 A Manish
X B.Rishi
< C. Tanmay
2 D. Vishal

Question ID : 97675518398 ]

Q.19 If -2x < -13 + 5, then which among the following is true?
Ans X A x>3

X B.x<6
o C.x>4

X' D.x<8

Question ID : 97675518402 ]

Q.20 If P $ Q means P is the husband of Q; P ! Q means P is the mother Q and P * Q means
P is the daughter of Q, which of the following shows that Z is brother of W's wife, if Z
is male?

Ans X AW*X!Y$Z
XBWSXIY*Z
XCW*X$Y!z
#DWSX*Y!Z

Question ID : 97675518397

Section : General Awareness

Q.1 The Rowlatt Act of 1919 was termed as the
Ans X A.Red

«" B. Black
< C.Blue
< D. White

Question ID : 97675518421
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Q.2 Who won the BBC Indian Sportswoman of the Year 20217
Ans X A. Sania Mirza

< B.P.\V. Sindhu
«" C. Koneru Humpy
25 D. Saina Nehwal

Question ID : 97675518429

Q.3 Baglihar Dam, built across Chenab river, is located in
Ans & A. Jammu and Kashmir

& B. Himachal Pradesh
25 C. Uttarakhand
25 D. Punjab

Question ID : 97675518420

Q.4 As announced in the Budget 2021, to promote seaweed cultivation, Govt. will establish
Multipurpose Seaweed Park in by Indian Government.

Ans X A. Pondicherry
«# B. Tamil Nadu
< C. Assam
< D. West Bengal

Question ID : 97675518414

Q.5 We Are Displaced' is written by
Ans X A. Venkaiah Naidu

" B. Malala Yousafzai
< C. Meenakshi Lekhi
< D. Shashi Tharoor

Question ID : 97675518424

Q.6 What is the scientific name of Vitamin D?
Ans X A. Thiamine

< B. Riboflavin
" C. Calciferol
< D. Tocopherol

Question ID : 97675518415

Q.7 was called the First Truly Swadeshi bank and it was founded in the
year 1911.

Ans X A. Canara Bank
#5 B. Bank of Baroda
4" C. Central Bank of India

#5 D. Punjab National Bank

Question ID : 97675518413
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Q.8 When was the second battle of Panipat fought?
Ans X A. 1761

o B. 1556
X C.1628
X D. 1527

Question ID : 97675518422

Q.9 Solheim Cup is associated with which of the following games?
Ans 4 A Golf

< B. Cricket
< C. Football
25 D. Hockey

Question ID : 97675518430 ]

Q.10 In 1945, Shimla Conference was proposed by to solve the political deadlock.
Ans  # A Lord Wavell

X B. Lord Cornwallis
< C. Lord Irwin
5 D. Lord Canning

Question ID : 97675518423 ]

Q.11 Powada are usually ballads sung for the heroes of the past. It is associated with which
of the following states?

Ans X A. Tamil Nadu
" B. Maharashtra
< C. Madhya Pradesh
25 D. Odisha

Question ID : 97675518411

Q.12 Which among the following constitutional amendments is associated with the
formation of Arunachal Pradesh legislative assembly?

Ans X A.32nd
o B.37th
/< C. 25th
X D. 28th

Question ID : 97675518428

Q.13 United Nations Children's Fund (UNICEF) was founded in
Ans X A. 1948

X B. 1945

o C. 1946
X D. 1947

Question ID : 97675518426
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Q.14 The concept of Fundamental Duties in the Indian constitution is borrowed from the
constitution of

Ans 4 A. Union of Soviet Socialist Republics (USSR)

< B. France
< C.lIreland
#5 D. Canada

Question ID : 97675518427

Q.15 Snails belongs to animal phylum.
Ans X A. Anthropoda

/< B. Echinodermata
< C. Platyhelminthes

" D. Mollusca

Question ID : 97675518417

Q.16 Performed by the community of snake charmers, dance involves
dancers emulating the movements of snakes.

Ans X A. Ghoomar
< B. Chari
«" C. Kalbelia
< D. Kachchhi Ghodi

Question ID : 97675518412

Q.17 Black soil is also known as 'Black Soil'".
Ans 4 A Cotton

/< B. Bajara
5 C. Maize
< D. Rice

Question ID : 97675518419

Q.18 Which among the following films won the Oscar award 2020 for the Best International
Feature Film of the year?

Ans X A. Corpus Christi
X B. Honeyland
25 C. Pain and Glory
«" D. Parasite

Question ID : 97675518425

Q.19 are called the amphibians of the plant kingdom.

Ans X A. Gymnosperms
X B. Angiosperms
«" C. Bryophytes

25 D. Pteridophytes

Question ID : 97675518416 ]
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Q.20 Which among the following mountain ranges is the longest in the Lesser Himalayas?
Ans X A.Mahabharat Lekh

«" B. Pir Panjal
25 C. Dhauladhar
25 D. Nag Tibba

Question ID : 97675518418

Section : Arithmetic Ability

Q.1 P borrowed an amount from Q at a simple interest of 10% p.a. At the end of the year, P
paid back Rs 99000 which was 90% of what she owed. How much money did P
borrow?

Ans " A.Rs 100000
/< B.Rs 11000
/< C.Rs 111000
/< D. Rs 90000

Question ID : 97675518437

Q.2 A car can cover 150 km at a certain time. If its speed is decreased by 5km/h, the same
car requires one hour extra time to cover the same distance. What is the speed of the
car?

Ans X A.35km/h
& B. 30 km/h
 C.25km/h
% D. 18 km/h

Question ID : 97675518443

Q.3 Saumya donates 8% of her salary as a charity. If she donated Rs 115200 in a year, what

was her monthly income?
Ans X A.Rs 240000

< B.Rs 10000
% C.Rs 160000
o« D. Rs 120000

Question ID : 97675518438

Q.4 Which is the largest among 1/2, 2/3, 4/5, 1?
Ans o A1

X B.4/5
X C.23

X D.112

Question ID : 97675518433
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Q.5 A trader cheats his customers by using weight x% less than the true weight. On selling
an item worth Rs 2000 per kilo at the cost price he makes a profit of 25%. What is the
value of x?

Ans o A 20%
X B.30%
X C.25%

X D.50%

Question ID : 97675518440 ]

Q.6 A cone of radius 5 cm and height 12 cm was attached to a solid cylinder of the same
dimensions. What will be the total cost of painting the entire solid at the rate of Rs 10
per sq cm?

Ans X A.Rs 660
X B. Rs 66000
« C. Rs 6600
X D. Rs 6000

Question ID : 97675518446

Q.7 A 70 litre mixture has liquids A and B in the ratio 5 : 9. How many litres of liquid A
must be added so that the ratio becomes 2 : 3?

Ans X A.4litres
< B. 10 litres
X C. 3litres
«" D. 5 litres

Question ID : 97675518441 ]

Q.8 In avillage a well of height 60 m and of diameter 4 m was dug and the earth that was
dug out was spread out in the shape of a cone of height 20 m. What will be the radius
of the cone so formed?

Ans X A.3m
2 B.10m

X C.5m
@ D.6m

Question ID : 97675518445

Q.9 The average height of a class of 40 students is 100 cm. If height of the teacher is
included, the average increases by 1 cm. What is the height of the teacher?

Ans X A. 140 cm
« B.141cm
X C.142cm

7< D.143cm

Question ID : 97675518436
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Q.10 The following pie chart shows (in form of degrees) the expenditure incurred during the
organisation of food festival.
There were 20 workers employed for the event and each was to be paid Rs 25000 in
cash. What was the total expense of the event?

Expenditure

Ans X A.Rs 15000000
«" B. Rs 1500000
< C.Rs 15000
< D. Rs 150000

Question ID : 97675518448

Q.11 P and Q were to compete in a 12 km race. P takes 2 hours less than Q to complete the
race. Had Q increased his speed by 100%, he would have completed the race in 3
hours. What is the speed of P?

Ans o A 3 km/h
< B.4km/h
< C.2km/h
2 D.1km/h

Question ID : 97675518442 ]

Q.12 Irina and Isla can complete a piece of work in 20 and 25 days respectively. If they were
working together, what percent of the work will be completed in 5 days?

Ans X A. 36%
o B.45%
 C.30%
2 D. 40%

Question ID : 97675518444

Q.13 What is the LCM of 24 and 36?
Ans X A. 44

X B.48

X C.36
o D.72

Question ID : 97675518431
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Q.14 What must be added to 45680 to make it exactly divisible by 9?
Ans X A0

X B.1
X cC.5
& D.4

Question ID : 97675518432

Q.15 The following bar graph gives the average marks distributions of 50 girls and 40 boys

in a class.
What is the average marks of the students in Math? [Round it off to the nearest
integer]
® Girls ™ Boys
2 as as
i 40
m r
L5
X35 -
m
o 25
o 25 4
E 20 -
E 3
I 15
10
, -
0 -
Math Seience English History
Subject
Ans X A.26
X B.25
" C.27
X D.24

Question ID : 97675518449

Q.16 What is the number which on dividing 80 and 85 leaves a remainder of 3 and 1
respectively?

Ans X A5
X B.6

& C.7
X D. 11

Question ID : 97675518434 ]
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Q.17 The following graph gives the details of the profit earned by companies A and B in Rs

lakhs over the years.

Which of the following years has the highest difference in profit between A and B?

120 4

Profit Earned By Companies

B Company A

® Company B

Year

2019

Ans o A 2020
X B.2018
/< C.2017
#< D.2019

Question ID : 97675518450

Q.18 The following table gives the production ratio of wheat and jute.

If the total cost of production in 2018 was Rs 18 lakhs, what was the cost of production
of wheat for the same year?

RATIO
YEAR
WHEAT JUTE
2017 3 4
2018 2 3
2019 1 2
2020 [ 5

Ans X A.Rs 5 lakhs
" B.Rs 7.2 lakhs
5 C.Rs 6 lakhs
5 D.Rs 8 lakhs

Question ID : 97675518447

Q.19 Which of the following is the single discount equivalent to successive discounts of

10% and 20%?
Ans X A 15%

o B.28%
X C.32%
X D.30%

Question ID : 97675518439
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Q.20 What is the least perfect square that is a multiple of 7, 11 and 12?
Ans X A. 45000

X B. 9000
& C. 853776
X D. 8100

Question ID : 97675518435

Section : General English

Q.1 Select the most appropriate ‘one word ' for the expression given below.

"strange and unpleasant, especially in a silly or slightly frightening way"

Ans X A. grotto

/< B. grumpy
" C. grotesque
< D. grunge

Question ID : 97675518455

Q.2 Select the most appropriate ‘one word ' for the expression given below.

"having very little money"
Ans X A.wholesome

25 B. impeccant
«" C. impecunious

25 D. impeccable

Question ID : 97675518454

Q.3 The sentence below has been divided into three parts. Select the part of the sentence

that has an error. If the sentence has no error, select the option 'No Error'.

Ecological connectivity can also help species adopt to future / environmental

conditions and buffer / changes by bolstering ecological resilience.
Ans  # A. Ecological connectivity can also help species adopt to future

#< B. No Error
< C. changes by bolstering ecological resilience.

#< D. environmental conditions and buffer

Question ID : 97675518451

Q.4 Fill in the blank with the appropriate word.

may refer to being clear of immediate or residual effects of any mind-
altering substances.

Ans X A. Austerity

< B. Sorority
" C. Sobriety
< D. Atrocity

Question ID : 97675518457
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Q.5 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form

a meaningful and grammatically correct sentence.

Although Amazon
P: the first streaming service to produce an Oscar-winning movie
Q: screenplay in 2016, it has adopted a more

R: when Manchester by the Sea won best actor for Casey Affleck and best original

S: beat Netflix to become
low-key strategy.

Ans X A.PSQR
X B. PQSR
5 C.SPQR
« D. SPRQ

Question ID : 97675518459

Q.6 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A. GOURMEY
X B. GORMETT
«" C. GOURMET
< D. GORMETTE

Question ID : 97675518462

Q.7 Select the word that is closest in meaning (SYNONYM) to the word given below.

CAISSON
Ans X A.Monarch

«" B. Case
25 C. Ration
< D. Raisins

Question ID : 97675518460

Q.8 The sentence below has been divided into three parts. Select the part of the sentence

that has an error. If the sentence has no error, select the option 'No Error'.

It must be compelled that during the first three decades /
of the 19th century, the development of education / took place only through the
traditional institutions.

Ans X A. of the 19th century, the development of education
# B. It must be compelled that during the first three decades
< C. took place only through the traditional institutions.
< D. No Error

Question ID : 97675518453

Q.9 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A. KALEIDSCOPE
«" B. KALEIDOSCOPE
< C. KALAIDOSCOPE
75 D. KALAIDSCOPE

Question ID : 97675518463
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Q.10 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

On 22nd May 2020, India would be launching it’s / Marine Turtle Policy aimed at
addressing the / pollution caused by micro-plastics.

Ans X A. pollution caused by micro-plastics.
4" B. On 22nd May 2020, India would be launching it's
25 C. Marine Turtle Policy aimed at addressing the
25 D. No Error

Question ID : 97675518452

Q.11 Select the most appropriate meaning of the given idiom.

"chink in one's armor”
Ans " A.Vulnerable area

25 B. Most resilient area
< C. The shiny edge resembling the strengths
< D. Most guarded area

Question ID : 97675518465

Q.12 Fill in the blank with the appropriate word.

There is no such thing as voluntary attention for more than a few seconds
at a time.

Ans X A.levied
25 B. shrunken
5 C. taken
4" D. sustained

Question ID : 97675518456

Q.13 Select the most appropriate meaning of the given idiom.
"Cook the books"
Ans  # A. Dishonest accounting

75 B. Wasting a valuable resource
completing a task

& C. Using an incorrect tool for

25 D. Not knowing the right thing to do

Question ID : 97675518464 ]

Q.14 Select the word that is the opposite meaning (ANTONYM) to the word given below.
"Mirage"
Ans X A. Hallucination
" B. Reality
25 C. Fantasy

25 D. Phantasm

Question ID : 97675518461
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Q.15 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the

Ans

option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

Being the

P: it is important to look through samples of essays
Q: to get a clear picture of how to write one

R: and university students,

S: most important writing task for college

on your own.

" A. SRPQ
X B.RsQP
5 C.PSQR
& D.PSRQ

Question ID

: 97675518458

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Every time we Google something, Facebook someone, Uber somewhere, or even just turn on
a light, we create data that businesses collect and use to make decisions about us. In many
ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data
as much as we could. Moreover, whether it is a bank evaluating our credit worthiness, an
insurance company determining our risk level, or a potential employer deciding whether we
get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce,
education, healthcare, travel and finance companies to outline how Big Data can work better
for all of us. As of today, how much we benefit from Big Data depends on how closely the
interests of big companies align with our own. Too often, outdated standards of control and
privacy force us into unfair contracts with data companies, but it doesn’t have to be this way.
Weigend makes a powerful argument that we need to take control of how our data is used to
actually make it work for us. Only then can we the people get back more from Big Data than
we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to
generic data mining systems, is an example. With more and more information accessible in
electronic forms and available on the Web, and with increasingly powerful data mining tools
being developed and put into use, there are increasing concerns that data mining may pose a
threat to our privacy and data security. However, it is important to note that most of the major
data mining applications do not even touch personal data. Prominent examples include
applications involving natural resources, the prediction of floods and droughts, meteorology,
astronomy, geography, geology, biology, and other scientific and engineering data.

SubQuestion No : 16

Q.16 Data mining is used for :

Ans

25 A. Shaping diamond mines to give a better yield
" B. Making decisions about us

X C. To search the correct keyword on search engines on the internet

25 D. To turn on the light

Question ID

: 97675518467
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Every time we Google something, Facebook someone, Uber somewhere, or even just turn on
a light, we create data that businesses collect and use to make decisions about us. In many
ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data
as much as we could. Moreover, whether it is a bank evaluating our credit worthiness, an
insurance company determining our risk level, or a potential employer deciding whether we
get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce,
education, healthcare, travel and finance companies to outline how Big Data can work better
for all of us. As of today, how much we benefit from Big Data depends on how closely the
interests of big companies align with our own. Too often, outdated standards of control and
privacy force us into unfair contracts with data companies, but it doesn’t have to be this way.
Weigend makes a powerful argument that we need to take control of how our data is used to
actually make it work for us. Only then can we the people get back more from Big Data than
we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to
generic data mining systems, is an example. With more and more information accessible in
electronic forms and available on the Web, and with increasingly powerful data mining tools
being developed and put into use, there are increasing concerns that data mining may pose a
threat to our privacy and data security. However, it is important to note that most of the major
data mining applications do not even touch personal data. Prominent examples include
applications involving natural resources, the prediction of floods and droughts, meteorology,
astronomy, geography, geology, biology, and other scientific and engineering data.

SubQuestion No : 17

Q.17 How can we utilise big data in a better fashion ?

Ans

25 A. Insurance companies should not be allowed to used mined data
< B. Everybody should be taught in detail big data and data mining

25 C. Job employer should have all the data about his employee

" D. We should be able to control how our data is used

Question ID

: 97675518469
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Q.18
Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Every time we Google something, Facebook someone, Uber somewhere, or even just turn on
a light, we create data that businesses collect and use to make decisions about us. In many
ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data
as much as we could. Moreover, whether it is a bank evaluating our credit worthiness, an
insurance company determining our risk level, or a potential employer deciding whether we
get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce,
education, healthcare, travel and finance companies to outline how Big Data can work better
for all of us. As of today, how much we benefit from Big Data depends on how closely the
interests of big companies align with our own. Too often, outdated standards of control and
privacy force us into unfair contracts with data companies, but it doesn’t have to be this way.
Weigend makes a powerful argument that we need to take control of how our data is used to
actually make it work for us. Only then can we the people get back more from Big Data than
we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to
generic data mining systems, is an example. With more and more information accessible in
electronic forms and available on the Web, and with increasingly powerful data mining tools
being developed and put into use, there are increasing concerns that data mining may pose a
threat to our privacy and data security. However, it is important to note that most of the major
data mining applications do not even touch personal data. Prominent examples include
applications involving natural resources, the prediction of floods and droughts, meteorology,
astronomy, geography, geology, biology, and other scientific and engineering data.

SubQuestion No : 18
How has data mining improved our lives ?

< A. Data mined from the user is cheaply sold in the market.

«” B. Data mined from the user tells the internet about the needs and wants of the users
and give appropriate search results.

25 C. Data mining requires more cookies which indeed makes the internet slower

< D. Data mining has barely had any impact on the society

Question ID

: 97675518468
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Every time we Google something, Facebook someone, Uber somewhere, or even just turn on
a light, we create data that businesses collect and use to make decisions about us. In many
ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data
as much as we could. Moreover, whether it is a bank evaluating our credit worthiness, an
insurance company determining our risk level, or a potential employer deciding whether we
get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce,
education, healthcare, travel and finance companies to outline how Big Data can work better
for all of us. As of today, how much we benefit from Big Data depends on how closely the
interests of big companies align with our own. Too often, outdated standards of control and
privacy force us into unfair contracts with data companies, but it doesn’t have to be this way.
Weigend makes a powerful argument that we need to take control of how our data is used to
actually make it work for us. Only then can we the people get back more from Big Data than
we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to
generic data mining systems, is an example. With more and more information accessible in
electronic forms and available on the Web, and with increasingly powerful data mining tools
being developed and put into use, there are increasing concerns that data mining may pose a
threat to our privacy and data security. However, it is important to note that most of the major
data mining applications do not even touch personal data. Prominent examples include
applications involving natural resources, the prediction of floods and droughts, meteorology,
astronomy, geography, geology, biology, and other scientific and engineering data.

SubQuestion No : 19
Q.19 In Data for the People, Andreas Weigend draws on his years as a consultant for:
Ans

< A. Commerce, education, manufacturing, travel and finance companies
< B. Science, education, healthcare, travel and finance companies
«# C. Commerce, education, healthcare, travel and finance companies

25 D. Commerce, education, healthcare, production and finance companies

Question ID

: 97675518471
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Every time we Google something, Facebook someone, Uber somewhere, or even just turn on
a light, we create data that businesses collect and use to make decisions about us. In many
ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data
as much as we could. Moreover, whether it is a bank evaluating our credit worthiness, an
insurance company determining our risk level, or a potential employer deciding whether we
get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce,
education, healthcare, travel and finance companies to outline how Big Data can work better
for all of us. As of today, how much we benefit from Big Data depends on how closely the
interests of big companies align with our own. Too often, outdated standards of control and
privacy force us into unfair contracts with data companies, but it doesn’t have to be this way.
Weigend makes a powerful argument that we need to take control of how our data is used to
actually make it work for us. Only then can we the people get back more from Big Data than
we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to
generic data mining systems, is an example. With more and more information accessible in
electronic forms and available on the Web, and with increasingly powerful data mining tools
being developed and put into use, there are increasing concerns that data mining may pose a
threat to our privacy and data security. However, it is important to note that most of the major
data mining applications do not even touch personal data. Prominent examples include
applications involving natural resources, the prediction of floods and droughts, meteorology,
astronomy, geography, geology, biology, and other scientific and engineering data.

SubQuestion No : 20
Q.20 Why is data mining becoming a reason for concern ?
Ans X A. major data mining applications do not even touch personal data

#< B. we as individuals do not benefit from this wealth of data as much as we could
X C. updated standards of control and privacy contracts with data companies

«# D. data mining may pose a threat to our privacy and data security.

Question ID : 97675518470

Section : General Hindi

Q.1 fafafEd w2 ¥, ar fawea ¥ F, 39 fieea o1 aaa &Y < form g o arw &1 98 fawe
gl

Ans X' A 3 AT AR TR TG U AeIehT I8 Igd &l ga 8l T |
o B. 319 T IO ER TG~ T8 W I8 Tgd & gl &l 11|
X C. 31 &1 W TR cllg, B ATy, 98 dgd &l gl 8l |
2% D. 319 T 9ie TR Wl qg AeIehs 98 Fgd of gl al T

Question ID : 97675518483

Q.2 fiEfefad wed ¥, aR faped) ¥ A, 39 ey o1 Tad & A & TS Aepifert BT Fat 31ef arenn
fapea 1
30 Y 3R A 7 R i -
Ans X' A HTATE a¥g iet ST
" B. @ & gfgAaT &I a1d g1
/< C. dHER &1 HERT
25 D. oIS TR dTet BT AT 81T

Question ID : 97675518486
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Q.3 fefafad wed ¥ o fawe) ¥V, 39 fbeq $1 aa7 B A &7 77 a1eRT F 1ot H7 98 faebeq
il
T 3 9eTE Fi Bt

Ans g A ST dBTa
X B. 9= gdHMBTA
X C. &g 8gHa Hfdwad Bref

X D.5gsgma
BT

Question ID : 97675518482 ]

Q.4 fi=fafEda 7eq ¥, TR el ¥ A, 39 fapeq o1 wga HR ) e 2ree &1 Fa 31287 fabed §1

qreETe

Ans X' A Turef
X B. HerR®
X C. fosar
o D. dlafa

Question ID : 97675518477

Q.5 frmfafad ged ¥, IR fawed) # 9, 39 fadmeq &1 997 & A &Y 7 Jerar &1 Wl 3ref arar
farea €1
ST 3o STHT HAT -

Ans X' A gror ¥ 3T
X B. g
o C. e g &1
X D. gfgnm aafe

Question ID : 97675518484

Q.6 fiafafad ued ¥, ar famenl ¥ A, 39 fGbed &1 797 B 51l WIaaras 31 B T8 fawea T8 21
Ans X' A 3Uaf

X B. iz

o C.gu=

25 D. BrRRAr

Question ID : 97675518474

Q.7 fafafEd wea ¥, o el ¥ J, 3 fidbeq &1 o & 3t iy 17 21 & fAg agae areg &1
| 38 fabey B
aER

Ans X A dER
X B. a=R
X C.afei
o D. TR

Question ID : 97675518480 ]
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Q.8 fi=fafEd wed ¥, aR fdweul ¥ A, 39 fameq o1 aaq B ) 57 17 26 & yafaar 2reg 1 98t
fawea T 21
uqy

Ans o AL TR
X B.®IEs

X C.®HAA

25 D. R

Question ID : 97675518476

Q.9 fmfafEa wed ¥, aR faweul ¥ A, 39 fimeu 1 957 B WY Qg 2 &1 FE e 21
Ans X' A dragfa

« B. faegfa

X C. fafardt

X D. fafefa

Question ID : 97675518479

Q.10 ffefEa wed ¥, ar fawe # ¥, 30 fided o1 7 ¥ St &g Mg gerar &1 we 312k aren
fasea 81
3121 W T -

Ans X' A R BT
X B. 9gd fAer
«# C. e o gsr
X D. 3UT ST

Question ID : 97675518485

Q1 frafefad ued ¥, ar faweal ¥ A, 39 fGbed &1 T B 51t QAT 20 BT Tt fabed 2l
Ans o A TI-TH

X B.Afew

X C.ndt

X D. S8

Question ID : 97675518472 ]

Q.12 fafafEd gea &, TR fawed) ¥ A, 39 famey &1 aa7 B A fadeht 2reg &1 wE) fasea g
Ans . A ETH(

5 B. UdwpT

X C. gerar

X D.2r&

Question ID : 97675518473

Q.13 ffefad wed #, IR fawel # ¥, 39 fGmed o1 7T & S Prod A Ry 1Y 212 & 3gaR 379
Y& aTae HdaTH 6T 99 37281 fadey &1

Ans X' A (%) T BT BT AT
" B. TR H (AR gk i e
X C.(g7) B B &
X D. (3%) $© 7d BeTl

Question ID : 97675518481
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Q.14 fFafafad weq ¥, ar e ¥ A, 39 faeed 1 aaq B2 S FdaTd P g BT T fFbe a1
ST BN, T W |

Ans X A 31f3eTd ariB

& B. TSI aAF
X C. ficams

< D. 39 g9

Question ID : 97675518475

Q.15 fmfafaa wed #, oR faweal 4 I, 39 WEl fawed H1 oaq & W Raw w2\ & g suge 2rea
T 9E fapea & 1
WRaATal P gfee & |ieAr anfeg)

Ans X A I
X B.figwe
o C. B
X D.3@dT

Question ID : 97675518478 ]

Comprehension:

TR e Ty erier & q1e 5 7oA AT T €1 5 Eier Bl Hgdes ue 3R R faded § § Y HeT BT
Hafad 3R g

Sfia % 9gd 3R € 3R 3iBR B € I 3repT 3R 3T & $B A 5 3UPR B WBR I od

% 3R q9 3% iR S W1l a Uge 3R U Y sl o, ag shHer: efur gt St €] ¥ siveR B
0 WlPTI P 7L BT TG T U1T BEdT §| T€ T BT Y 70 Hfel fopam mam 3Ry 8] 39 g
% Tfd Y TTT 3rRTel BT STH 59 4o UT9 § B B1aT 8] g TROT @ fob S eaferd 3o g wifd 5 urg
TE T 8, 98 fomelt & Y UfT 1€ uTy T o Wepar 8| fbeg B AN 3UBR &b WBR F g9 & g

3G IIBR N o7 ST 2] 3BT STa bR b T4 BT & Tad IUhH g ST 2

SubQuestion No : 16
Q.16 3BT 2Meg H '5%" UHT SiIgA | I aTeT 74T Qe PIF-91 87
Ans X A sfBe
X B.ufwm®
X C.éfBs
o D. UBH

Question ID : 97675518491

Comprehension:

T ey Ty merier & 916 5 77 AT T €1 5 Terier B wgdes ue iR R faded ¥ § Ui weT &
Hafad 3R |

S & sga 3R & 3R 3SR B € Hifd 31T 3R 3T €| T A S 3UBR B TNBR R od

& 3R 9 39 iR S TopTer ae Uga 3R U B arsiar off, a8 serer: aftor @t STt €] # 3R
T TP Y AT BT HIY FST UTY el | I8 HI BT T4 39 fet e mam 37oRTe B 39 gt
& U b MY 3TRTYT BT STH 7 Ht 9T A & 1T 8] IS TR B fob 1 et 37197 8 Wfd 39 o1 B
T} e 8, a8 ot & Y ufd 1€ uTy A IR Fepar 8| fbg F© @NT 37UBR b WNBR J g9 F g

3P IRABR H @ S §| 3BT STad IHBR P 0 BT & Tdd 3UhH I ofTdT &

SubQuestion No : 17
Q.17 TEier ¥ '3RIGR e frw 317 Hba Far 872
Ans o A AT 3R BT Y 3R
X B. U9 P 3R
X C. 3R BT 3R
X D. T &Y 3R

Question ID : 97675518488 ]
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Q.18

Ans

Comprehension:

TR e & werier & 916 5 7oA AU T €1 5 Eier Bl wHgdes ue 3R R e § § Y ueT &
Hafad 3R g

Sfia % 9gd 3R ¢ 3R 3iBR B € I 3repT 3R 3T & B A 5 3UPR B WBR N old

% 3R a9 3% MiaR S W1l ac Uge 3R U Y st oft, ag seHer: eftur gt St €] ¥ siveR B
<0 WPTI B 7L BT TG T U1T BEdT §| T€ T BT Y 70 Hfel fopam mam 3Ry 8] 39 g
% Tfd Y TTQ 3rRTel BT ST 59 4o uT9 § B B1aT 2] g TROT R fob S eaferd 3o g wifd 5 urg
TE a1 €, T8 Tt & W T I uTw TET IR AapdT 2| fobg B 71 3UBR & R F 997 F g

I IIBR N o7 ST 2] 3BT STia 3HBR b T4 BT & Tad IUhH g ST 2

SubQuestion No : 18
S e BT YBH 3527 FIT 3?2
X A. TRE-0RE & Y BY AT g
X B. U9 3R Uy & T AT
o C. 3373 3R 1A B ¥ B &b iy IRkd
X D. 3HR 3R Yeb12l T uel ol

Question ID : 97675518490

Q.19

Ans

Comprehension:

T e ™ merier & 916 5 77 AT T €1 5 Terier B wgdes ue iR R faded ¥ § U weT &
Hafad 3R |

St # siga 3R & 3R 3SR B € Hifd 31T 3R 3 | T8 A S 3UBR B TNBR R od

& 3R 9 39 iR S TepTer e Uga 3R U Y arrsiar off, a8 seHer: aftor @t STt €] # 3R St
T WIPTT BT AT BT HIY TST UTY el | I8 HI BT 399 39 Tfet e mam 37oRTer 3| 39 gt
& Tfd Y TTY 3TRTT BT ST 59 1 UT9 | E 81aT o] I8 TROT 8 b i cAferd 37197 & i 59 uT B
7€} van 8, a8 ot & WY Ufd 1€ uTy T IR Fepar 8| fbg F© AN 37UBR &b bR J g F g

3P IRABR H @ S | 3BT STad IHBR P [ BT & Tdd 3UhH a7 SfTdT 8

SubQuestion No : 19

AP I fFY T 9871 U Per 22
X A TBTer U Y affoT 3TTeBiar
X B. A BT 379 Ul U197 BAT
o C. PR B WHR P AT
X D. 3YBR B TNBR T BAT

Question ID : 97675518489

Comprehension:

TR o & erier & 916 5 99 AU T €1 5 Eier Bl vHgdes ue 3R R fded § § Y HeT &
Hafad 3R g

St & aga 3R & 3R 3uBR B € Wifd 31T 3R 3T € T A S 3R B TBR R Ad

% 3R q9 3% MiaR ST W1l dc Uge 3R U Y sl o, ag seHer: eftur gl St €] ¥ siveR B
T WP PV AT BT T IST UTY Feell §| T A B W 3797 Tt foam Tram 3rRTe 3] 396 gERi
% Tfd Y TTY 37RTel BT ST7H 59 4o UTT § & BlaT 8] g TROT R fob S eaferd 3o g wifd 59 urg
TE AT €, I faeit & W Ufd IS ITa TE1 R HepdT 8| fobg B AN 3R & WeR ¥ g97 & fag

I IIBR N o7 ST 2] 3BT STa 3HBR b (T4 BT & Tad IUhH g STdT 2

SubQuestion No : 20

Q.20 3 37 BT PIE IuYR M-

Ans
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o A. ST &7 3UBR
X B. A= B O
< C. 3[R &1 Hewd
< D. U9 3iR gug

Question ID : 97675518492
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Section : Discipline1

Q.1  Inadouble riveted double covered butt joint. the strength of the joint per pitch length in shearing the rivets Py and
strength of one rivet in single shear P, are related as;

Ans XA Pyg=25P,
XB Py=3P,
X c By=2d
D Py=4P,

Question ID : 97675518503

Q.2 The characteristics of air pollution control mechanism is given below.
1. Uses electrical forces to move the particles out of the flowing gas stream onto collector plates.
2. The particles are removed from the plate by rapping and collected in a hopper below the unit.

Identify the control mechanism.

Ans A Electrostatic Precipitators

X B. Venturi scrubbers
X C. Settling chambers

X D. Cyclones

Question ID : 97675518510

Q.3 Asreel rod of 20 mum diamerer is used as a tie member n the roof bracing system and may be subjected to possible
reversal of strezs due to wind load. Whar ia the maxinmm permiszible length of the member?

Ans X A 2250 mm
X B. 2000 mm
« C. 1750 mm
2 D. 3000 mm

Question ID : 97675518504

A body submerged in liquid is in equilibrium when:

X A. Its meta centre is above the centre of buoyancy
X B. Its centre of gravity is above the centre of buoyancy
X c. Its meta centre is above the centre of gravity

« D. Its centre of buoyancy is above the centre gravity

Question ID : 97675518501

Q.5 Acreinforced concrete beam is subjected to the following bending moments:
Moment dug to Dead load = 60 kNnui: Moment due fo live load = 90 kNny; Moment due to Seismic load = 30 KENm. The

design bending moment for limit state of collapse is:
Ans @ A 225 KNm
X B. 216 kNm
ZA C. 180 KNm
X D. 135 KNm

Question ID : 97675518493

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S75D1715/16328344618413316/41100300003...  29/49



H L] .}
01/10/2021, 11:14 https://ch!l lelz[l]m ‘In%!reg(gglglggltogsl;geHs@ssmelr;!z%yl%ﬁea P}SQ)Q§8'/ !QSOZ 1338575D1715/163283446184...

Q.6 The recommended values of compressive strength (CS) and water absorption (WA for heavy duty burnt clay bricks of
class 400 as per [S 2180 are respectively:

Ans

X A €S =45 to 50 N/mm?: WA < 20 %
X B. CS =35 to 40 N/mm?: WA < 15 %
X C. €S =30to40 N/mm?; WA < 12 %

¢ D. CS =40 to 45 N/mm?; WA < 10 %

Question ID : 97675518512

Q.7 The maximmum spacing of shear reinforcement (as verrical srinups) measured aleng the axis of a reinforeed conerete
beam of width 300 mm and effective depth 500 mm, with a span 6 m is:

Ans X A 300 mm
X B. 375 mm
" C. 200 mm
X D. 337.5 mm

Question ID : 97675518496 ]

Q.8 Aclosed cylindrical tank of height 2 m is partly filled with oil of relative density 0.8 to a depth of lm, iz subjected to an

air pressure of 20kN/m above the ail. Determine the tatal pressure {in EN/munits) at the bottom of the tank. Take unit
weight of warer as 10000 N/m”

Ans XA |2
X B. 20
« C. 28
X D. 20.8

Question ID : 97675518499 ]

Q9 p plate girders intermediate vertical stiffeners are provided to safeguard:
Ans X A Increase self-weight of plate girder
« B. Web against Shear buckling stress
X C. Transfer concentrated loads on girder to the web

X D. Web against Bending bucking stress

Question ID : 97675518507 ]

Q.10 In dealing with the problem of air pollution, gravitational settling chambers are generally used to remove large, abrasive
particles from :

Ans X A Stack

« B. (Gas Streams
& C. Stack & Ambient Air
< D. Ambient Air

Question ID : 97675518511
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Q11 Identify the air pollutant which is not produced from automobile exhaust.
Ans X A Oxides of nitrogen
« B. Hydrogen Sulphide
X C. Lead
& D. Particulate dust
Question ID : 97675518508
Q.12  Water flows with a flow rate of 0.5 cumecs through a pipe AB of lengrh 12 m length having a vniform cross-section.
The end B of the pipe is above the snd A and the pipe makes an angle of 30" to the horizontal. For a pressure of 20
k/m? at the end B, the corresponding pressure at the end A (in [N/m? units) is: (Take vnit weight of water as 10
1Ny
Ans  x' A 120
X B 32
XcC 40
« D. 80
Question ID : 97675518500
Q.13 The effective length of a steel compression member of length [, restrained against translation and rotation at one end,
while the other end is restrained against translation and not restrained against rotation is:
Ans @A 0.81
XB 12]
XC 0651
XD 2]

Question ID : 97675518502

Q.14 Vortex flow of irrorational motion. without any external torque the rate of change of angular momentmum nmst be

Ans

o A Zero
X B. Two
X C. One
X D. Three

Question ID : 97675518498

Q.15 According 1o 1S 456, under limir state of collapse condition, for assessing the strength of a structure, the values of

Ans

partial safety factors for steel and concrete are respectively:

X A 1.15 and 1.65

«B. 1.15and 1.5
XC 087and 1.2
XD 15and1.15

Question ID : 97675518495
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Q.16

Ans

A steel built up column is subjected to an axial force of 2000 kN, The lacing svstem has to be designed for resisting a
transverse shear of:

X A 40 kN
X B. 20kN
X c S0KN
¥ D. 50KkN

Question ID : 97675518506

Q.17

Ans

Web crippling in I section steel beams occurs at the points where:

« A Concentrated loads act
X B. Bending moment is maximum

X C. Deflection is maximum

& D. Shear force is maximum

Question ID : 97675518505

Q.18
Ans

As per Newton’s Law of Viscosity the shear stress acting between two layers of fluid is:
X A. Directly proportional to the distance between them.

X B.
Inversely proportional to the square of the distance between them

xc
Directly proportional to the square of the distance between them.

« D. Inversely proportional to the distance between them.

Question ID : 97675518497

Q.19

Ans

For 2 way continvous slabs having shorter span (less than 3.5 m). with high strength deformed bars of Fe415 grade,
span to overall depth eatio of slab, to satisfy the vertical deflection limits for loading elass upte 3 KN/m?_ is -

s A 32
X B. 40
Xc 28
X D. 35

Question ID : 97675518494

Q.20 1dentify the one which does not belong to the category of Secondary air pollutant?

Ans

« A. Oxides of Nitrogen

X B. Ozone
X C. Photochemical Smog

X D. PAN (Peroxy Acetyl Nitrate)

Question ID : 97675518509

Section : Discipline2
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Q.1 For a trapezoidal channel of specified side slope, the most economical cross-section
for conveying the maximum discharge through the channel section is given by the
condition:

Ans X A. Top width must be equal to one of the sloping side of channel
< B. Hydraulic radius must be equal to the depth of Flow
< C. Twice the Top width must be equal to one of the sloping side of channel

" D. Hydraulic radius must be equal to half the depth of Flow

Question ID : 97675518531

Q.2 The addition of 50 decibel noise with another 50 decibel noise is equivalent to a noise
of:

Ans  # A 53 decibel
25 B. 73 decibel
25 C. 100 decibel
25 D. 83 decibel

Question ID : 97675518532

Q.3 Tweo statements S1. S2 pertaining to clay soils are given.

51 : The in situ moisture content for a sensitive clay may be greater than the liquid limit. and the liquidity index is
greater than one.

§2 : In many natrally deposited clay soils. the unconfined compressive strength for undismrbed clay is less than the
remolded clay, at the same moisture content,

Choaose the correct answer.

Ans X A Both S1 and S2 are True
& B. S1 is False and S2 is True.
« C. 51 is True, and S2 is False

X D. Both S1 and S2 are False

Question ID : 97675518521

Q.4 A father notes that when his teenage daughter uses the telephone, che takes not less than 6 minutes for a call and some
times as muich as | hour. Calls of duration 15 minutes are most frequent than calls of any other duration. If the daughters
call were an activity in a PERT project, estimare the call’s expected duration?

Ans XA 15 minute
X B. 16 minute
« C. 21 mimte
# D. 13.5 minute

Question ID : 97675518517

Q.5 Arigid isolated footing is resting on Clay. The contact pressure at the edges and centre of the fooring are respectively:
Ans & A Maxinmum and minimum
X B. Minimum and maximm

& C. Zero and maximum

& D. Maximum and zero

Question ID : 97675518525
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Q.6 Dperermine the shear strength of seil (in KN/m>units) in terms of effective stress ona plane within a sanuated soil mass
at & point where the total stress is 220 KN/m? and the pore water pressure is 120 KN/m?. The effective stress shear
strength parameters for the soil are: cohesion = 16 KN/m? and angle of internal friction = 30 . (take sin30 =0.3, tan 30
=0.6:00330 =0.9)

Ans X A 106
< B. 136
X C. 66
+D. 76

Question ID : 97675518527

Q.7 From the theee typical cases C 1. C2. C3 choose the combination, where one can expect occurtence of negative skin
friction. on piles:
Cl : Anupward drag exists in the pile
C2 ; Develop if the filled material around pile is a loose sand deposit.
€3 : Lowering of ground water table resulting in consolidation of soil

Ans X A Cl,C2and C3
X 8. Cl only
« C. C2 and C3 only
X D. Cl and C3 only

Question ID : 97675518528

Q.8 1In project management, Critical path is identified as the one which connects the events having:
Ans & A Zero slack time
X B. Negative slack time

X C. Smallest path

& D. Positive Slack time

Question ID : 97675518518

Q9 According to 154954:1968, the usual noise level of the industries is in the order of:
Ans XA 130 to 165 decibels

# B. 170 to 210 decibels

X C. 105 to 130 decibels

« D. 60 to 95 decibels

Question ID : 97675518529 ]

Q.10 Two statements S1, S2, associated with the properties of soil are given:
51 : As the compaction effort is increased, the maximum dry nit weight of the compaction is also increased.

52 : The co-efficient of consolidation generally increases as the liguid limit of soil increases.

Choose the correct answer.

Ans A Sl is True, S2 is False
X B. Both S1 and S2 are False.
X C. Both S1 and S2 are True.
X D. Sl is False, S2 is True

Question ID : 97675518523
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Q.11 Among the following construction materials, identify the one having maximum density?

Ans X A Wood
X B. Cement

X C. Granite stone
« D. Steel

Question ID : 97675518515

Q.12 Which of the following is an incorrect assumption of Coulomb’s Wedge Theory of Earth pressure?
Ans X A
The back-fill soil is dry, cohesion less, homogeneous, isotropic and ideally plastic material.
X B.
The slip surface is a plane surface which passes through the heal of the wall.
X C.

The sliding wedge irself acts as a rigid body and the value of earth pressure is obtained by considering the limiting
equilibrivim of the aliding wedge as a whole.

o D.

The resultant earth pressure on the wall is inclined at an angle (907+8) to the normal to the wall, where 6 is the angle of
friction between the wall and backdill

Question ID : 97675518526

Q13 Dry rot is decomposition of felled timber caused by the action of:

Ans X A. Beetles attack
X B. Termites attack
« C. Fungi attack
X D. Bacterial attack

Question ID : 97675518514 ]

Q.14 Identify the property for which Crystallisation Test is conducted on freshly quarried stones.
Ans A Durability

& B. Frost resistance
X C. Toughness

X D. Weather resistance

Question ID : 97675518513 ]

Q.15 Among the properties of soil, idenrify the one which is not appropriate for determinarion from dismrbed soil samples:

Ans X A. Plasticity characteristics
« B. Shear strength
X C. Specific Gravity

X D. Grain size distribution

Question ID : 97675518524 ]
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Q.16 The water content of a fully saturated soil mass is 100 %. The inference about the void ratio of soil sample is:

Ans X A. Greater than the specific gravity of soil

X B. Equal to the unit weight of soil
+ C. Equal to the specific gravity of soil
X D. Independent of the specific gravity of soil

Question ID : 97675518522

Q.17 Incivil engineering project planning, a Dummy activity is a type of operation in

X A Time only

Ans

« B. Both Time and resources

X C. Resources only

« D. Wo Time and Resources

the network which requires:

Question ID : 97675518516

Q.18 Soils carried by water and have been deposited from suspension in still water of lakes are known as:

Ans X A Aeolian deposits

« B. Lacustrine deposits
X C. Loess deposits
X D. Alluvial deposits

Question ID : 97675518519

Q.19 What will be the resultant decibel level when there are 4 sources making noise of equal levels?

Ans X A. Decibel levels will remain the same

X B. Decibel level will increase by 4 decibels
« C. Decibel level will increase by 6 decibels

X D. Decibel level will increase by 8 decibels

Question ID : 97675518530

Q.20 4 partly saturated sample from a borrow pit has a natural moisture content of 20 % and bulk unit weight of 24N,

Estimate the unit weight of dry soil sample (in KN/m”® units)
@A 20
X8 24
XC 18
X D. 15

Ans

Section : Discipline3
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Question ID : 97675518520
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Q.1 In the Plane Table Surveying, Bessel’s Graphical method is adopted for the solution of:

Ans

X A Two-point problem
X B. Traversing problem
+ C. Three-point problem
X D. Graphic triangulation

Question ID : 97675518549 ]

Q.2  Atriangular Direet hydrograph due 1o a 6 hour storm in a catchment has a time base of L00 hour and a peak flow 40
/s, The catchment area is 360 km?. The 6-hour unit hydrograph of this carchment will have a peak flow (m?/3) of:

Ans X A 30
¢ B 20
X C 6.67
XD 10

Question ID : 97675518533 ]

Q.3  Three pipes having diameter dy, dy and dy (d; d,> d ) are connected in series. Identify the correct option pertaining to
the flow through the pipes.

Ans X A. Revnolds number of flow for each pipe is the same.

« B. Discharge through each pipe is the same.

X C. Head loss in each pipe is the same

X D.
Total discharge is the sum of the discharge in the individual pipes

Question ID : 97675518537

Q.4 If the moismire content in a soil is at the field capacity of soil, the ratio of Actual Evapotranspiration {AET) to the
Potential Evapotranspiration (PET) is:

Ans X A. Less than 1

X B. Equal to 0.5
« C. Equalto 1
X D. More than |

Question ID : 97675518543

@3 The Hydrologic flood routing methods employ the equations of:

Ans X A. Energy Equation only
X B. Both momentum and continuity equations

« C. Equation of Continuity only

X D. Equation of motion only

Question ID : 97675518534
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Q6 Agonic line is the line made up of points having:

Ans X A Negative declination
« B. Zero declination
X C. Positive declination

& D. Same declination

Question ID : 97675518546

Q.7 Aline of levels has been mn from a bench mark of elevation —35.32 m and ends at another bench mark of elevation
+35.35 m. The sum of back sights is 16.55 m and the sum of foresights is 16.58 m respectively. The closing error in the
survey worl is;

Ans XA -0.03m
B -0.06m
XC 0.03m
« D. 0.06 m

Question ID : 97675518550 ]

Q.8 In defining Froude number applicable to channels of any shape, the length parameter used is:

Ans A Ratio of wetted area to top width
X B. Wetted perimeter
X C. Hydraulic radius
X D. Depth of flow

Question ID : 97675518538

Q9 Tdentify a Rabi Crop cultivated in India.
Ans @ A Barley

X B. Groundmut
X C. Jowar
X D. Rice

Question ID : 97675518542

Q.10 While designing of summit curve on highways the important factor to be considered is:

Ans X A Impact factor
X B. Comfort to passengers

« C. Sight distance

X D. Superelevation

Question ID : 97675518552
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Q.11 The equipment used for the measurement of Evapotranspiration for a given vegetation type in the fields is:

Ans

« A Lysimeter
X B. Colorado sunken Evaporation pan
X C. Pan-evaporimeter

X D. Double ring Infiltrometer

Question ID : 97675518535

Q.12 Which one is not the characteristics of the critical state of flow through an open channel?

Ans A The discharge is minimum for a given specific Energy
X B. The specific energy is minimum for a given discharge.
X C. The specific force is minimum for a given discharge.
X D. Froude number is equal to Unity
Question ID : 97675518540
Q.13 Among the sources of errors in theodolite survey listed, one of them is not considered as a natural ervor. Tdentify it:
Ans

X A. Wind producing vibrations
X B. Unequal atmospheric refraction due to high temperature
« C. Inaccurate centering

X D. Unequal settlement of tripod

Question ID : 97675518548

Q14 WWhich is not suitable for setting out right angles to another line

Ans

« A. Telescopic Alidade
X B. Prism square

X C. Open Cross staff
X D. Sextant

Question ID : 97675518545

Q.15 In hydraulic modelling of flow pattern around a body submerged in a fluid the non-dimensional mumber which has ta be

Ans
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kept the same in the model and prototype is:
X A Weber number
& B. Strouhal number

« C. Reynold’s number

X D. Froude number

Question ID : 97675518541
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Q16 Tn which year ‘Motor Vehicle Act” was adopted in India
Ans XA 1947

X B. 1940

< C. 1938

« D. 1930

Question ID : 97675518551

Q.17 Anirrigation canal that is aligned nearly paraliel to the contours of the area, can itrigate area only on one side of canal,
and generally constructed as a single bank canal is known as:

Ans X A. Detour canal

X B. Ridge Canal
X C. Side slope canal

« D. Contour Canal

Question ID : 97675518544

Q18 A streamlined body is one for which:
Ans & A
The separation point occurs on the far downstream part of the body

X B. The thickness of the body is minimum

X C. The skin friction is zero
& D. The skin friction is minimum

Question ID : 97675518539

Q.19 The graphical plot of the intensity of rainfall against the time interval for a basin is known as:
Ans X A Hydrograph

« B. Hyetograph

X C. Mass curve of rainfall

X D. Unit Hydrograph

Question ID : 97675518536

Q20 Contour lines of different elevations can unite to form one line in case of:
Ans X A A cave

X B. An overhanging cliff
X C. Ahill
« D. Vertical cliff

Question ID : 97675518547

Section : Discipline4
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Q.1 The sum of all the forces acting on a body is Zero. The inference that can be deduced from it is :
Ans X A.
The body may be in equilibrium provided the forces are parallel.

« B.
The body may be in equilibrium provided the forces are concurrent.

X C. The body cannot be in equilibrium.

X D. The body must be in equilibrium.

Question ID : 97675518568 ]

Q.2  Asolid eylinder, solid sphere, and a hoop. each of radius R and mass m are released sinmltansonsly from rest on an
ineline at the same elevation. The order in which they will pass throngh a common mark at the same level is :

Ans X A Cylinder, hoop. sphere
X B. Hoop, Cylinder, Sphere
« C. Sphere, Cylinder, Hoop
X D. Cylinder, Sphere, Hoop

Question ID : 97675518572

Q.3 Under which part of the Planning Survey of Highways, “Road Life Studies™ is included.
Ans XA Financial Studies

< B. Economic Studies

& C. Traffic use Studies

+ D. Engineering Studies

Question ID : 97675518553

Q.4  Name the test on Aggregate, to determine the resistance of aggregates to weathering action:
Ans XA Abrasion Test

« B. Bitumen adhesion Test

« C. Soundness Test

X D. Crushing Test

Question ID : 97675518562

Q.5 Identify the factor which is not taken into account for computing the breaking distance in highways.
Ans & A Reaction time of Driver

X B. Gradient

X C. Speed of Vehicle

X D. Co-efficient of longitudinal friction

Question ID : 97675518554
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Q.6  Tdentify the test that is not commonly adopred for evaluaring the strength properties of subgrade soil in pavements:

Ans X A. California bearing Test (CBR)

X B. Plate bearing Test
X C. Dynamic Cone penetration (DCP) Test
« D. Pressuremeter test (PMT)

Question ID : 97675518563 ]

Q.7 The following 2 statements (S1 and S2) pertain to design of flexible pavements:

S1 : Most flexible pavement design procedures are based on Benkelman beam
deflection measurements

S2 : Elastic deflection is a practical non-destructive measure of pavement stiffness
which relates well to fatigue failure.

Ans o A S1 is False and S2 is True
& B.
Both S1 and S2 are True and S2 is the correct explanation of S1.

X C.
Both S1 and S2 are True and S2 is not a correct explanation of S1

#< D. S| js true and S2 is False

Question ID : 97675518567

Q.8 Which of the following is not the purpose of “Origin & Destination Studies” in Traffic Engineering?
Ans o A
To judge the adequacy of existing routes and to plan new network of roads.

< B.

To establish preferential routes for various categories of vehicle ineluding bypass.

X C. To locate terminals and to plan terminal facilities.
X D.

To study the causes of accidents and to suggest corrective treatment at potential locations.

Question ID : 97675518556 ]

Q.9 The maximum super elevation to be provided on a road eurve is L in 10, If the rate of change of super elevation is
gpecified az | in 100 and the road width is 10 m. the mininmm length of transition to be provided on either end of
circular eurve is:

Ans XA 50m
KB 75m
XC 125m
« D. 100 m

Question ID : 97675518555

Q10 Which of the following is not correctly matched?
Ans X A Bituminous mix design : Marshall method

+ B. Float test : Water Content in bitumen
& C. Penetration test : Hardness or softness of bitumen
X D. Los Angeles Test : Hardness of aggregates

Question ID : 97675518564
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Q.11 A body is acted upon by a force system. It can in general be brought to equilibrium by the application of :

Ans X A. A force acting on a suitable point on the body.
X B. A wrench acting anywhere on the body.
« C.
A force acting along a suitable line and a moment along the direction of the force
X D. A force acting anywhere along a suitable line
Question ID : 97675518569
Q.12

What is the height of free fall of hammer in the Aggregate Impact Test?
Ans XA 30 cm
« B 38 cm
X C 35ecm
X D. 45cm

Question ID : 97675518561

Q.13 According to Indian Road Congress (IRC), for the design of traffic control signals, the pedestrian green time required
for the major and minor roads are calculated based on walking speed of:

Ans XA 0.5 m/s
X B 1.5nm's
« C. 1.2 m's

XD 1.0m's

Question ID : 97675518559 ]

Q.14 Two statements 51 and 52 pertaining to I Alembert Principle in Machanics is given.

51 : It states that the net external Force F actuallv acting on the body and the inertia foree Fi together keep the bodv in a
state of fictitions dynamic equilibrivm.

52 . This is a hypothetical principle and is independent of Newton’s law of motion,
Choose the correct answer

Ans X A Both S1 and S2 are True
X B. Both S1 and S2 are False.
« C. 51 is True and S2 is False.
X D. 51 is False and S2 is True.

Question ID : 97675518571

Q.15 As per the IRC guidelines for design of flexible pavements by CBR method, the load parameter required is:
Ans X A Number of vehicles (all types) during the design life

« B. Cumulative standard axles in msa
X C. Equivalent single axle load

X D. Number of commercial vehicles per day

Question ID : 97675518560
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Q16 WWhich type of traffic survey details are plotted by desire lines ?
Ans X A Speed and delay

& B. Classified volume
+ C. Origin and destination
X D. Accidents

Question ID : 97675518558

Q.17 Given the following parameters for a concrete pavement:

r—radius of load distribution, P — wheel load, h — thickness of slab. 1 - Poisson’s ratio of concrete, E — modulus of
elasticity of concrete, K — modulus of subgrade reaction.
The combination of parameters required for estimating the Radius of relative stiffness of concrete slab is :

Ans XA Ph,K.
B EhKu
Xc h K pur
XD E K ur

Question ID : 97675518565 ]

Q.18 TIdentify the traffic signs which donot come under the category of a Regulatory Sign.

Ans

X A. Prohibitory signs

X B. Stop and give-way signs

X C. No Parking & No Stopping Signs
« D. Warning signs

Question ID : 97675518557

Q.19 The point of contraflexure in a loaded beam subjected to bending action is one where ;
Ans X A The shear force changes sign
X B. The bending moment is maximum
X C. The shear force is maximum

+ D. The bending moment changes sign

Question ID : 97675518570

Q.20 The recommended maximum spacing of contraction joints in 15 em thick reinforced slabs of rigid pavements. for
highways asperIRC 15 : 198113 ...

Ans @A 13m
XB 12m
XC 10m
XD l4m

Question ID : 97675518566

Section : Discipline5
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Q1 A water sample contains 10 ml/litre of OH- ions at 25 "C. The pH of this sample is :
Ans XA |2

<B 2

xXc o

D 5

Question ID : 97675518582

Q.2  Inwhich method of forscasting population, the percentage increase in population from decade to decade is assumed to

be constant.
Ans o A Geometrical increase method
X B. Incremental increase method
X C. Logistic Curve method
& D. Arithmetical increase method
Question ID : 97675518579
Q3

In sewerage system drop manholes are provided when there is a:

Ans o A
Sloping ground, with drop more than 0.6 m is required to control the gradient.

X B. Change in alignment of sewer line
X C. Change in size of sewers

X D. Change from gravity system to pressure system

Question ID : 97675518583 ]

Q4 The major constituent gases produced from a land fill site are:

Ans X A Hydrogen sulphide and oxygen
X B. Carbon monoxide and nitrogen
X C. Ammonia and Hydrogen

« D. Carbon dioxide and methane

Question ID : 97675518591

Q.5  The anacrobic fermentation of biodegradable matter in an enclosed space under controlled condirions of temperature.
moisture. pH. ete. The waste mass undergoes decomposition due to microbial activity, thereby generating biogas
comprising of methane and carbon dioxide, and also digested shudge. which of the following options is described here?

Ans . A Biomethanation

X B. Incineration
X C. Plasma Pyrolysis Vitrification

X D. Autoclaving

Question ID : 97675518592
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Q.6 Which is the least preferred strategy of Integrated Solid waste Management according to their Environmental benefits ?

Ans & A Land fills
X B. Composting
X c. Waste to Energy
X D. Recycling

Question ID : 97675518590

Q.7 Abaroflength T and cross—section area A is subjectad to a gradually applied load P. Another bar of the same material,
having the same length L, and cross section area 24 is also subjected 1o a gradually applied load Q. If the strain energy

stored in the rwo bars are the same, then the ra.tjog i85}

Ans

7l =

N

=
B

< B.

< C.

[ %
]

X D.

Question ID : 97675518574

Q.8 The following statements S1 and 52 pertain to water treatment scheme.
51 : The efficiency of sedimentation process, depends on the difference of specific gravities of the particle and the

medinm.
52 : Disinfection being the last process in the treatment scheme, s not affected by poor coagulation and flocculation.

Choase the correct answer,

Ans o A S1 is True and S2 is False
X B. S1 is False and S2 is True
X C. Both S1 and S2 are False
& D. Both S1 and S2 are True

Question ID : 97675518581

Q.9  The features of anaerobic digestion of sewage are given. Identify the incorrect one.

Ans X A Reduces odour/ flies problem.
& B.

Reduction in volume of shudge and improving the dewarering characteristics of the shadze, makes it easy to dry.
« C. High operating cost,
& D.

Reduce production of landfill greenhouse gases when otherwise these untreated sludge is disposed on landfill

Question ID : 97675518584
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Q.10 The result of analysis of raw water sample from a source are given below.
Turbidity : 3.5 NTU
pH:7.4
Fluoride : 1.0 mg/l
Total Hardness : 350 mg/l
Tron: 2.7 mg/l
MPN : 60 per 100 ml
For the above data, treatment has to be provided to the water for the removal of :

Ans X A Turbidity, fluoride, and hardness

+ B. Hardness, Iron, followed by disinfection

< C.
Turbidity, fluoride, hardness, Iron, followed by disinfection

X D. Iron followed by disinfection

Question ID : 97675518580 ]

Q.11 The beneficial association between algae and bacteria known as Symbiosis, has been made nse for the weatmenr of
waste warter in the following unit:

Ans X A. Activated Sludge tank
+ B. Oxidation pond

X C. Imhoff tank
X D. Anaerobic digestor

Question ID : 97675518585 ]

Q12 Which of the following methods is not used for the disposal of hospital waste?
Ans X A. Electropyrolysis
« 8. Landfilling
X C. Incineration

X D. Thermal treatment

Question ID : 97675518589

Q.13 A thin spherical shell is subjected to an internal pressure p. What is the ratio of volumetric strain to cireumfarential
strain in shell ?

Ans XA 0.5
XB 2
xc 1
#D. 3

Question ID : 97675518573

Q.14 The major and minor principal stresses at a point on a body are 10 MPa and -10 MPa respectively. Deternine the
maxinmm shear stress at the point (in MPa units)

Ans X A 20
& B. Zero
XC 5
« D. 10

Question ID : 97675518576
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Q.15 The analysis of a Kinematically Indeterminate Structure by Stiffness Matrix method is also known as :

Ans X A. Force method

+ B. Displacement method
X C. Flexibility matrix method
X D. Compatibility Method

Question ID : 97675518578

Q.16 What is the ILD} (Influence Iine Diagram) of a three hinged Arch of Span ‘" and rise *h’ due to horizontal thrust *H

Ans : i i« 2 L
X A. Triangle with its maximum ordinate at center equals to o
24

X B. Square with its ordinate equals to ﬁ
X C. Square with its ordinate equals to i

« D. Triangle with its maximum ordinate at center equals to ﬁ

Question ID : 97675518577

Q.17 What is the Mass Moment of Inertia of a Metallic Circular Plate of nniform thickness ‘", radivs *R” and mass density
*p", about an axis passing through its planar surface.

Ans @ 025tprn R
XB 0.5tpnR2
Xc 025tpnR3

XD 025tpnR2

Question ID : 97675518575

Q.18 The following statements 31 and S2 pertain to two procedures for disposal of Municipal solid Waste,

51 : Gasification is the conversion of waste and biomass into liquid and gaseous fuel as well as solid residues and char
at 500 C-1000 C in absence of air.

52 : Pyvrolysis is a partial combustion of organic or fossil based carbonaceous material, plastics, efc. into carbon
monoxide, hydrogen, carbon dioxide, and methane, at a temperature of 630°C, with cantrolled amount of
air'oxygen.

Identify the correct answer.

Ans X A. S1 is False and S2 is True
+ B. Both S1 and S2 are False
X C. Both S1 and S2 are True
X D. 51 is True and S2 is False

Question ID : 97675518588

Q.19 Which of the following Rules / policies / Schemes is not Initiated by the Govt. of India in the year 2008
Ans . A Plastic waste Rules

X B. National Urban sanitation policy

X C. National Mission on Sustainable Habitat

X D. Hazardous waste Rules

Question ID : 97675518586
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Q.20 In the aerobic composting process, when the C/N (Carbon to Mitrogen) ratio of Municipal solid Waste is less than 25 : 1,
identify the material which is added fo it to increase the C/N valoe, to avoid the production of foul smell.

Ans X A Slaughter House Waste

X B. Non-edible oil cakes
X C. Green biomass

« D. Saw dust

Question ID : 97675518587 ]
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Ans

correct?
16x2+5-18+3=33

KA X, +
X B.x-
o C.+ -
XD+ +

Q.1 Which two signs should be interchanged to make the below equation mathematically

Question ID : 97675517998

Q.2

Ans

Complete the following number series:
128, 115, 103, 92,

o A 82
X B.72

X C.75
< D.68

Question ID : 97675517999

Ans

is the son of Q, which of the following shows that W is brother of Z?
KAW*X$Y!Z

B W XIY$Z
XCWIX*Y$Z
XDWIX$Y*Z

Q.3 If P $ Q means P is the brother of Q; P ! Q means P is the mother Q and P * Q means P

Question ID : 97675517993

Ans

Q.4 Naina, Preksha, Yash, Uma, Esha and Gauri are sitting around a round table facing the

centre. Preksha is between Uma and Yash, Gauri is between Naina and Yash and Gauri

is to the left of Naina. Who is to the left of Esha?
" A. Naina

X B. Gauri
X C.Uma
X D.Esha

Question ID : 97675517995
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Q.5 Shubham jogs 3 km west, he then turns 45° to his left and jogs 2 km, he then turns 90°
to his left and jogs 3 km, he then turns 180° to his right. Which direction is he facing
now?

Ans X A. north-east
4" B. north-west
X C. south-west
X D. south-east

Question ID : 97675518002

Q.6 Aman walks 0.4 km east, then turns south and walks 0.3 km, then turns east and walks
0.7 km, then turns south and walks 0.5 km, and turns to its right and walks 0.11 km.
Where is he now with reference to his starting position?

Ans  # A. 0.8 km south
< B. 0.2 km north
< C. 0.2 km south
25 D. 0.8 km north

Question ID : 97675518001

Q.7 Select the option that is related to the third image on the same basis as the second
image is related to the first image.

il Va's o 'a o by .
OOOOO], .o . ?
Ans
A
X B
X c
X D.

Question ID : 97675518004
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Q.8 If JACKAL is coded as 11-2-4-12-2-13, then what is the code for TIGER?
Ans o A.21-10-8-6-19

& B. 19-12-10-8-17

X C.20-9-7-5-18

X D. 22-11-9-7-20

Question ID : 97675517991

Q.9 Which of the following cube in the answer figure cannot be made based on the

unfolded cube in the question figure?

e @

.
XA

: '

L L/
[ [/
xo ©

Question ID : 97675518005
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Q.10 Which of the following answer figure patterns can be combined to make the question
figure?

Ans

R%a%

Question ID : 97675518006

Q.11 In a certain code language
963 means flowers are beautiful
438 means beautiful and expensive
14 means expensive bag
What is the code for ‘and'?

Ans X A 4
" B.8
X C.3
X D.9

Question ID : 97675517992
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Q.12 Find the missing term in the following series :
6Q9, ,20Y23, 27C30

Ans A 13U16
X B.12515
X C.13817
X D.10T12

Question ID : 97675517987

Q.13 If Seema is taller than Yash; Aisha is taller than Seema; and Yash is taller than Wasim,
who is the tallest among all?

Ans X A Seema
#< B. Yash
" C. Aisha
2 D. Wasim

Question ID : 97675517994

Q.14 Select the pair that is related on the same basis to the pair given in the question.
Needle : Tailor :: ?

Ans X A. Wood : Carpenter
#< B. Leather : Cobbler
X C. School : Teacher
«" D. Saw : Carpenter

Question ID : 97675517990
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Q.15 Which answer figure will complete the pattern in the question figure?

f) —

Ans

Question ID : 97675518003

Q.16 Find the wrong term in the following series :
MJ, QN, US, YV, CZ

Ans A US
X B.CZ
7 C.QN
X D.YV

Question ID : 97675517988
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Q.17 The given Venn diagram shows the number of children in a complex who play a

particular sport. How many children play Cricket as well as Chess?
Cricket — A — Basket Ball
— Chess
Ans X A 18
X B.31
o C. 15
X D.27

Question ID : 97675518000

Q.18 In the question one statement is given, followed by two conclusions, | and Il. You have
to consider the statements to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from
the given statements.

Statement : 55% of Manisha's office colleagues went to watch the movie.

Conclusion | : Manisha went to watch the movie.
Conclusion Il : Manisha did not go to watch the movie.

Ans X A. Only conclusion | follows
25 B. Only conclusion Il follows
75 C.Both I and Il follow
« D. Either | or Il follows.

Question ID : 97675517997

Q.19 Select the option that is related to the third term on the same basis as the second term
is related to the first term.
HPT:EMQ: RUD:?

Ans X A.MSC
«" B. ORA
2 C.PND
X D.MTC

Question ID : 97675517989
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Q.20 In the question two statements are given, followed by two conclusions, | and Il. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : All schools are books.
Statement 2 : No books are papers.

Conclusion | : No schools are books.
Conclusion Il : Some books are schools.

Ans X A. Only conclusion | follows
#< B. Both | and Il follow
4" C. Only conclusion Il follows

X D. Neither I nor Il follows

Question ID : 97675517996

Section : General Awareness

Q.1 Which among the following banks merged with the Indian Bank with effect from April
20207

Ans X A. Canara Bank
#< B. Andhra Bank
& C. Punjab National Bank
4" D. Allahabad Bank

Question ID : 97675518009

Q.2 The Kamet is the highest summit in the mountain range.
Ans X A. Aravalli

< B. Western Ghats
" C. Zaskar
2 D. Eastern Ghats

Question ID : 97675518015

Q.3 Which among the following instruments is used to measure the wind force?
Ans X A.Hygrometer

< B. Galvanometer
< C. Altimeter

¥ D. Anemometer

Question ID : 97675518011

Q.4 As announced in the Budget 2021, Indian Railways have prepared a National Rail Plan
for India. The plan is to create a ‘future ready’ Railway system by

Ans X A. 2028
& B. 2030
X C.2026
X D. 2025

Question ID : 97675518010
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Q.5 Who is the director general of World Health Organisation as of February 20217

Ans X A. Margaret Chan
#< B. Roberto Azevedo
#< C. Christine Lagarde
«# D. Tedros Adhanom Ghebreyesus

Question ID : 97675518020

Q.6 When was the Battle of Talikota fought?
Ans X A. 1558

X B.1535
o C. 1565
X D.1532

Question ID : 97675518018

Q.7 The members of chlorophyceae are commonly called algae.
Ans o A green

& B.red
 C. blue
#< D. brown

Question ID : 97675518012

Q.8 How many forms of Shakti are worshipped during Navaratri?
Ans X A7

& B.9
X C.10
X D.8

Question ID : 97675518007

Q.9 Who has the record of the most wickets in career in One Day Internationals as of

February 20217
Ans X A. Wasim Akram

¥ B. Muttiah Muralitharan
75 C. Shahid Afridi
25 D. Wagar Younis

Question ID : 97675518025

Q.10 The ancient name of the river is Vitasta.
Ans X A Beas

" B. Jhelum
& C. Chenab
< D. Ganga

Question ID : 97675518014
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Q.11 will be hosting the International Olympic Committee's (I0C) session in
2023.
Ans X A. Chennai
¥ B. Mumbai
< C. Kolkata
#< D. New Delhi

Question ID : 97675518026

Q.12 Pavri Nach is performed by the Kokna tribe of which of the following states?
Ans " A. Maharashtra

#< B. Odisha
25 C. Madhya Pradesh
2< D. Tamil Nadu

Question ID : 97675518008

Q.13 In which year 'Atal Pension Yojana' was launched?
Ans X A. 2016

X B.2017
X C.2014
& D. 2015

Question ID : 97675518016

Q.14 Which among the following Schedule in the Indian Constitution is associated with
Panchayat Raj?

Ans X A. Eighth
X B. Ninth
& C. Tenth
«” D. Eleventh

Question ID : 97675518023

Q.15 49th Constitutional Amendment Act gave a constitutional sanctity to the Autonomous
District Council in

Ans X A. Sikkim
& B. Meghalaya
#< C. Arunachal Pradesh

" D. Tripura

Question ID : 97675518024

Q.16 Playing to Win' is the autobiography of which of the following sportspersons?
Ans 4 A. Saina Nehwal

< B. Sania Mirza
2 C. Anil Kumble
#< D. Novak Djokovic

Question ID : 97675518021
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Q.17 Who won the Oscar award in 2020 for the performance by an actor in a supporting
role?

Ans X A. Tom Hanks
«# B. Brad Pitt
< C. Al Pacino
< D. Joe Pesci

Question ID : 97675518022

Q.18 Night Blindness is caused by the severe deficiency of which of the following vitamins?
Ans o A Vitamin A

#< B. Vitamin B

2 C. Vitamin D

#< D. Vitamin C

Question ID : 97675518013

Q.19 Historian Vincent Smith has elevated in Indian history as the
Napoleon of India.

Ans X A. Skandagupta
X B. Kumaragupta |
" C. Samudragupta
2 D. Chandragupta |

Question ID : 97675518017

Q.20 Who was the first king of the Rashtrakuta dynasty?
Ans 4 A. Dantidurga

#< B. Krishna |
& C. Govinda l
#< D. Dhruva Dharavarsha

Question ID : 97675518019

Section : Arithmetic Ability

Q.1 What is the least positive number that is exactly divisible by 7, 11 and 3?
Ans X A 235

o B. 231

X c.7
X D.230

Question ID : 97675518029

Q.2 Two identical glass jars have milk and water in the ratio 3 : 1 and 5 : 2 respectively. If
the mixture in the two jars were emptied out in an empty bucket, what is the resultant
ratio of milk and water in the new mixture?

Ans o A 41:15
XK B.41:17
X C.31:15
X D.41:14

Question ID : 97675518037
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Q.3 The following graph shows the frequency of plant samplings in a nursery against
height (in cm).

Ans

What is the approximate average height of all the plants in the nursery?

Frequency

O B N W OB U@ N B
1

15 25 5 35 45
Height

" A.31cm
X B.40cm
X C.30cm
X D.45¢cm

Question ID : 97675518045

Q.4 Jack has 4 types of candies in the ratio 2 : 6 : 9 : 12. He decided to distribute it among

Ans

kids such that each get equal number of candies and of only one variety. If he had a

total of 116 candies, find the number of kids.

X A4
X' B.20
Xce
o D.29

Question ID : 97675518031
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Q.5 The given pie chart shows the monthly expenditure of a man (in Rs 1000s).
What is the approximate percentage of the man's savings?

Expenditure

Ans

o A 25%
# B.10%
X C.40%
% D.20%

Question ID : 97675518043

Ans

Q.6 A number when divided by 15, 21 and 24 leaves a remainder 1. What is the number?

X A. 840
< B.900
o C. 841
X D.790

Question ID : 97675518027

Ans

Q.7 The wheel of a small toy car has circumference of 30 cm. What is the distance it has

travelled when the wheel has made 4.5 revolutions?
«" A.135¢cm

< B.125¢cm
& C.150cm
2 D.120cm

Question ID : 97675518038

Ans

height of the cylinder so formed. What will be the radius of the cylinder?
X A 10cm

& B.7cm
A C.21cm
X D.14cm

Q.8 A metal sheet of dimension 44 cm x 20 cm was rolled such that its breadth is now the

Question ID : 97675518041
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Q.9 There are three light bulbs which blink at an interval of 3, 4 and 5 minutes. If they all
start together, then in what time will they all blink together again?

Ans X A. 40 min
& B. 30 min
< C. 100 min
4" D. 60 min

Question ID : 97675518030

Q.10 The total number of voters in a small town increased from 40000 to 60000 in a span of
5 years. What is the arithmetic average percentage increase of voters per year in the
time span?

Ans A 10%
X B.12%
< C.16%
< D.8%

Question ID : 97675518033

Q.11 The average weight of 40 girls is 40 kg and the average weight of 40 boys is 50 kg.
What is the overall average weight?

Ans X A 40kg
% B. 60kg
o C.45kg
#< D. 50kg

Question ID : 97675518032

Q.12 There are two trains travelling in opposite directions. Train 1 crosses train 2 in 20
seconds and a pole in 24 seconds. What is the length of train 2 if the length of train 1
is 192 m? The speed of train 2 is given as 36 km /hr

Ans o A 168 m
X B.360m
7< C.150m
/A D.124m

Question ID : 97675518039

Q.13 Meena decided to paint a hollow cone of height 20 m and radius 21 m. What will be the
total cost of painting at the rate of Rs 15 per sq m?

Ans X A Rs 28700
o B.Rs 28710
% C.Rs 2900
X D. Rs 3000

Question ID : 97675518042

Q.14 Ais 30% more than C and B is 20% less than C. What is the ratio of A: B: C?
Ans X A 11:7:10

« B.13:8:10
7 C.13:7:10
K D.13:8:1

Question ID : 97675518036
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Q.15 Meena sells 70 red marbles and 105 blue marbles in boxes without mixing such that
each box has x number of marbles. What is the value of x?

Ans X A.30
 B.35
X C.70
X D.45

Question ID : 97675518028

Q.16 The following table shows the men and women ratio of a few countries.
Which of the given countries has the highest men to women ratio?

COUNTRY MEN WOMEN
HUNGARY 3 4
INDIA 4 5
TAIWAN 3 1
BHUTAN 2 4

Ans X A.India
" B. Taiwan
/< C. Bhutan
& D. Hungary

Question ID : 97675518044

Q.17 What will be the selling price if three successive discounts of 10% is applied on an
item marked at Rs 30007

Ans X A.Rs 2100
% B.Rs 729
& C.Rs 2187
2 D.Rs 1800

Question ID : 97675518035

Q.18 A number is increased by 25%. Two fourth of the original number is what percent of
the new number so formed?

Ans X A.45%
X B.50%
X C.25%
& D. 40%

Question ID : 97675518034

Q.19 A man and a child can do a work in 90 days, a woman and a child can do the same
work in 60 days and a man and a woman can do the same work in 45 days. How many
days will be required to complete the work if all the three work together?

Ans X A.20days
" B. 40 days
& C.30days
& D. 25 days

Question ID : 97675518040
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Q.20 The following bar graph shows the profit earned by company A in percentage over the

years.
The profit in 2017 is more than the profit in 2016 by assuming that the
revenue is same in both the years.
60% -
50%
S50% -
40%
= 30%
5 30% -
=
o
20%
10% -
0%
2016 2017 2018
Year

Ans 4 A.33.33%
< B.50%
75 C.65%
< D. 100%

Question ID : 97675518046

Section : General English

Q.1 Select the most appropriate meaning of the given idiom.

"Bite the bullet"
Ans X A. To get something over with because it is inevitable
+# B. To do something that is nearly impossible
5 C. To eat a very hard biscuit

< D. To procrastinate

Question ID : 97675518060

Q.2 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

As the time rolls by, rats in there thousands die and lie scattered all over / the streets,
while vultures begin hovering over the house as more people / start dying in the
village and the epidemic kills without discrimination.

Ans X A.No Error
 B.

As the time rolls by, rats in there thousands die and lie scattered all over
5 C. the streets, while vultures begin hovering over the house as more people

X D. start dying in the village and the epidemic kills without discrimination.

Question ID : 97675518048
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Q.3 Fill in the blank with the appropriate word.

Like all classics, this single movement for large orchestra is both luminous and
; both captivating and overwhelming.

Ans 4 A unfathomable
X B. unassailable
< C.insatiable

#< D. unequivocal

Question ID : 97675518052

Q.4 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required’ if the sentence is correct as given.

The purpose of the Act was to establish an institutional (structured) that could
effectively protect, promote and fulfil the fundamental rights guaranteed by the Indian
Constitution.

Ans 4 A. framework
< B. qualification
< C. reservation

5 D. no correction required

Question ID : 97675518049

Q.5 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

The principle

P: is to present your stand on the issue at
Q: hand but effective introductory

R: purpose of the introduction

S: paragraphs are so much more

than that.

Ans X A SRPQ
X B.SPQR
& C.RPQS
< D.RQSP

Question ID : 97675518053

Q.6 Select the most appropriate 'one word ' for the expression given below.

"perfect, or complete in every way"
Ans X A. consulate

& B. consume
< C. consuetude

" D. consummate

Question ID : 97675518061
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Q.7 Select the word that is the opposite meaning (ANTONYM) to the word given below.

Oblivion
Ans X A. Indifference

25 B. Inadvertence
4 C. Consciousness

X D. Featherbrained

Question ID : 97675518056

Q.8 Fill in the blank with the appropriate word.

In protest, a nationwide of work was called, marking the commencement
of widespread, although not nationwide, popular discontent.

Ans X A. persistence
4 B. cessation
25 C. beginning
5 D. celebration

Question ID : 97675518051

Q.9 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

After Gandhi

P: because he was a colored person travelling in first-class,
Q: was thrown off a train

R: for injustices that many people of color faced

S: he took that emotion and used it to commence the fight
at the time.

Ans X A QSPR
o B. QPSR
X C.SPQR
X D.PQRS

Question ID : 97675518054

Q.10 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required’ if the sentence is correct as given.

The controversy before the Madras High Court (products) from the issue of what is to
be done after the Human Rights Commission completes its inquiry.

Ans X A refrains
X B. digresses
«” C. stems

25 D. no correction required

Question ID : 97675518050

Q.11 Select the most appropriate meaning of the given idiom.

"To cost an arm and a leg"
Ans X A. Not having the means to do basic things in life

+ B. Something is very expensive
2 C. Doing a courageous act

5 D. Losing something very precious

Question ID : 97675518059
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Q.12 Select the word that is closest in meaning (SYNONYM) to the word given below

Flabbergasted
Ans X A. Disgusted

75 B. Rubber ring
/< C. Extreme heat
«# D. Surprised

Question ID : 97675518055

Q.13 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A. VISCIOUS
X B.VISIOUS
& C.VICIOUS
# D.VICSIOUS

Question ID : 97675518057

Q.14 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A SOBRIQUE
X B. SOUBRIQUET
" C. SOBRIQUET
X D. SOBRIKE

Question ID : 97675518058

Q.15 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

A priest uses the opportunity of the plague, / and invoking his god, preach refuge in
religion / to overcome the deadly attack.

Ans X A. A priest uses the opportunity of the plague,
2% B. No Error
#< C. to overcome the deadly attack.

+" D. and invoking his god, preach refuge in religion

Question ID : 97675518047
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An"

Q.16 Metaphrand and metaphier are equivalent to

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as
having two parts: the tenor and the vehicle. The tenor is the subject to which attributes are
ascribed. The vehicle is the object whose attributes are borrowed. In the previous example,
"the world" is compared to a stage, describing it with the attributes of "the stage"; "the world"
is the tenor, and "a stage" is the vehicle; "men and women" is the secondary tenor, and
"players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new
concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’ is equivalent to the metaphor-theory
terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms
‘vehicle’, ‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier
exactly characterizes the metaphrand (e.g. the ship plowed the seas). With an inexact
metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers
— that enrich the metaphor because they “project back” to the metaphrand, potentially creating
new ideas — the paraphrands — associated thereafter with the metaphrand or even leading to
a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”,
the metaphier is "tornado". As metaphier, "tornado" carries paraphiers such as power, storm
and wind, counter clockwise motion, and danger, threat, destruction, etc. The metaphoric
meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’
through the paraphrand of physical and emotional destruction; another person might
understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of
‘spinning motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new
metaphor for emotional unpredictability, a possibly apt description for a human being hardly
applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only
enhance description, but "increase enormously our powers of perception...and our
understanding, and literally create new objects”.

SubQuestion No : 16

2% A. Meaning and relation
< B. Cause and effect
# C. Target and source

2% D. Relation and co-relation

Question ID

. 97675518065
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as
having two parts: the tenor and the vehicle. The tenor is the subject to which attributes are
ascribed. The vehicle is the object whose attributes are borrowed. In the previous example,
"the world" is compared to a stage, describing it with the attributes of "the stage"; "the world"
is the tenor, and "a stage" is the vehicle; "men and women" is the secondary tenor, and
"players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new
concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’ is equivalent to the metaphor-theory
terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms
‘vehicle’, ‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier
exactly characterizes the metaphrand (e.g. the ship plowed the seas). With an inexact
metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers
— that enrich the metaphor because they “project back” to the metaphrand, potentially creating
new ideas — the paraphrands — associated thereafter with the metaphrand or even leading to
a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”,
the metaphier is "tornado". As metaphier, "tornado" carries paraphiers such as power, storm
and wind, counter clockwise motion, and danger, threat, destruction, etc. The metaphoric
meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’
through the paraphrand of physical and emotional destruction; another person might
understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of
‘spinning motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new
metaphor for emotional unpredictability, a possibly apt description for a human being hardly
applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only
enhance description, but "increase enormously our powers of perception...and our
understanding, and literally create new objects”.

SubQuestion No : 17

Q.17 What is the "vehicle" in the above passage?

Ans

25 A. A word that gives a reference to a new word
#< B. The subject to which attributes are ascribed
25 C. A thing used to express, embody, or fulfil something

¥ D. The object whose attributes are borrowed

Question ID

: 97675518064
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An"

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as
having two parts: the tenor and the vehicle. The tenor is the subject to which attributes are
ascribed. The vehicle is the object whose attributes are borrowed. In the previous example,
"the world" is compared to a stage, describing it with the attributes of "the stage"; "the world"
is the tenor, and "a stage" is the vehicle; "men and women" is the secondary tenor, and
"players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new
concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’ is equivalent to the metaphor-theory
terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms
‘vehicle’, ‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier
exactly characterizes the metaphrand (e.g. the ship plowed the seas). With an inexact
metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers
— that enrich the metaphor because they “project back” to the metaphrand, potentially creating
new ideas — the paraphrands — associated thereafter with the metaphrand or even leading to
a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”,
the metaphier is "tornado". As metaphier, "tornado" carries paraphiers such as power, storm
and wind, counter clockwise motion, and danger, threat, destruction, etc. The metaphoric
meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’
through the paraphrand of physical and emotional destruction; another person might
understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of
‘spinning motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new
metaphor for emotional unpredictability, a possibly apt description for a human being hardly
applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only
enhance description, but "increase enormously our powers of perception...and our
understanding, and literally create new objects”.

SubQuestion No : 18

Q.18 What is the world compared to?

Ans

< A. Needs
o B. Stage
< C. Part of life

2< D. Arena of opportunities

Question ID

: 97675518063
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Q.19

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as
having two parts: the tenor and the vehicle. The tenor is the subject to which attributes are
ascribed. The vehicle is the object whose attributes are borrowed. In the previous example,
"the world" is compared to a stage, describing it with the attributes of "the stage"; "the world"
is the tenor, and "a stage" is the vehicle; "men and women" is the secondary tenor, and
"players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new
concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’ is equivalent to the metaphor-theory
terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms
‘vehicle’, ‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier
exactly characterizes the metaphrand (e.g. the ship plowed the seas). With an inexact
metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers
— that enrich the metaphor because they “project back” to the metaphrand, potentially creating
new ideas — the paraphrands — associated thereafter with the metaphrand or even leading to
a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”,
the metaphier is "tornado". As metaphier, "tornado" carries paraphiers such as power, storm
and wind, counter clockwise motion, and danger, threat, destruction, etc. The metaphoric
meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’
through the paraphrand of physical and emotional destruction; another person might
understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of
‘spinning motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new
metaphor for emotional unpredictability, a possibly apt description for a human being hardly
applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only
enhance description, but "increase enormously our powers of perception...and our
understanding, and literally create new objects”.

SubQuestion No : 19

Referring to Julian Jaynes theory and considering the metaphor "All the men and
women merely players”, what are "men" and "women" ?

< A history

¥ B. metaphrand
25 C. metaphor
#< D. metaphier

Question ID

: 97675518066
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as
having two parts: the tenor and the vehicle. The tenor is the subject to which attributes are
ascribed. The vehicle is the object whose attributes are borrowed. In the previous example,
"the world" is compared to a stage, describing it with the attributes of "the stage"; "the world"
is the tenor, and "a stage" is the vehicle; "men and women" is the secondary tenor, and
"players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new
concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’ is equivalent to the metaphor-theory
terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms
‘vehicle’, ‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier
exactly characterizes the metaphrand (e.g. the ship plowed the seas). With an inexact
metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers
— that enrich the metaphor because they “project back” to the metaphrand, potentially creating
new ideas — the paraphrands — associated thereafter with the metaphrand or even leading to
a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”,
the metaphier is "tornado". As metaphier, "tornado" carries paraphiers such as power, storm
and wind, counter clockwise motion, and danger, threat, destruction, etc. The metaphoric
meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’
through the paraphrand of physical and emotional destruction; another person might
understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of
‘spinning motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new
metaphor for emotional unpredictability, a possibly apt description for a human being hardly
applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only
enhance description, but "increase enormously our powers of perception...and our
understanding, and literally create new objects”.

SubQuestion No : 20
Q.20 The statements at the start of the passage are attributed to:
Ans X A. George Eliot

o B. William Shakespeare
25 C. George Orwell
2% D. William Blake

Question ID : 97675518067

Section : General Hindi

Q1 Fufafed vy &, 9R e & |, 39 fdwe &1 797 w3 i 3y T garay &1 wdt o
qren fapeq 81
RR gy -

Ans g A TBRIGHT
X B. TR AT
X C. TRifEr & ek g
2 D. 3! T W BHT

Question ID : 97675518081

Q.2 fmfafad uy §, IR el # A, 39 fAwe o1 a7 o &) & 7 drepifeT o1 ad) o
arer faped g1
39 P 3T, I9 B a9 -

Ans X' A 3O SwId B & WY BT
X B. 3T IS8T 3T HAT
X C. 9%ddl g g
o D. HaS B i1 BISHR a0 B g1 Qe

Question ID : 97675518082
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Q3 gﬁ@auaﬁ,mﬁmﬁﬁ,wﬁmmmﬁﬁmwwaﬂmwﬁl

Ans X A ST
" B. TG0
X c.umn
X D. Tl

Question ID : 97675518069

Q.4 ﬁgﬁﬁ%ﬁwﬁ,mﬁmﬁﬁ,wﬁmmmﬁﬁm%gﬁmmw
e a

Ans X A ST9 IR SAOR HRA HRA Yb T, 8 I T e SRT A BT Ul Ty
X B. 99 TR TAWR B B Y 7T I I Tl I o1 A 3BT gl T
& C. 519 IR SAOIR FRA-Hd U T, T ST Wi, "=, SRT A BT Il T
X D. 99 2R FA9R B DA Y TAT 96 ST T "= ST A b1 ol )

Question ID : 97675518079

Q.5 Fufafad uy # ar R § ¥, 39 e o1 a7 o3 o) {132 v &1 98 e g
Ans XA g

X B.SORI
X C.@eue
o D. I

Question ID : 97675518068

Q.6 frgfafEa vy A, IR fawel # 9, 39 fawey &1 799 & il feu ¢ arew & forw sremm &
Ve &1 el fAwea gl
Tg 39 W ™ Har @I

Ans X A GHFTIGRU SHEIYUS 3oy
X B. fawmnfeatys seqa
X C. ARHU TS Y
& D. forarfaR sy

Question ID : 97675518071

Q7 fufafEd gy #, IR el § |, 39 fawed &1 997 ¥ &t fivar & Ve aren w6t fawe
gyrmmml
Ans X A dlcbifer fobar
X B. qdaifere foran
X C.AmYTg foma
o D. IR foban

Question ID : 97675518070

Q.8 fufufad uy &, IR A & |, 39 fAwe &1 797 B o Y= Weg F1 T8 fawey 21
Ans o A ST

X B. R4

X C. 3

X D. SRYIRF

Question ID : 97675518075
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Q.9 ﬁaﬁ?auaﬁ,mﬁmﬁﬁ,wﬁmmmﬁﬁwmmmm
fapea g1

Ans X A B ST TR 31ER ST el S 71
o B. T ST § 6 TR 3R 3= 78t §d g
X C.H I § 5 gH 31&R 3= g 991 g
7€ D. H ST o JERT 31&R 3 T8l 91 g |

Question ID : 97675518077

Q.10 fafafad uy §, IR Al # 9, I e F1 997 & o U W ara & Riw ve & dg
PT I 33T fApeu g1
WIE @M I @D W@ Td! o 81 8!

Ans A RIS
X B. qufdrias
X C. uqueiy®
X D. SRS

Question ID : 97675518078

Q.1 fmfafed gy ¥, IR Aol # Q, 39 fawe o1 999 $3 oY 13T 70 gerar &1 Tgh orf
qren e g1
RR g7 -
Ans g A TSI
X B. Haq g
X C. ol ST

X D. giad g g

Question ID : 97675518080

Q.12 ﬁaﬁ%auaﬁ,mﬁmﬁﬁ,wﬁmmmﬁﬁﬁﬁwwmmm
faper Bl

7t

Ans X' A ¥d
X B.7gd
o C. W}
X D.9g

Question ID : 97675518072

Q.13 fpfafed uy &, IR Aol 9 9, 39 W8 fdoey &1 797 1 & Raa we & g suge
TTeg T AG fApea § |
Tt Rrsg AgE & TS § |

Ans X' A DHED
X B.gaR

o C. 3R
 D. oRa&R

Question ID : 97675518074
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Q.14 Fgfif@d vy §, aR el § 9, 39 e o1 997 ¥ ot 98 a7eg Ve &1 fabea g
it €1 39 gar t, a8 1@

Ans X A fayHamE® o
X B. WA I
X C. g aI’
o D. Ty a

Question ID : 97675518076

Q.15 fFmfafad uy §, IR el # 9, 39 98 faPeu o1 999 o3 & 3y 7 2eg & wd) ardf
o1 I faweu gl
§a3
Ans X' A Tg
X B.dpd

X Cc.aT
« D.7R

Question ID : 97675518073

Comprehension:

= fou T T & o1E 5 U foT T B 1 39 T & eyde U¢ ok IR fadedt # ¥ ude
U9 &1 gakad IR |

IR AGH & 3 IRTE W Feury R T T aTd @ 964 8- RaRiard, Teigg, Hard,
FHSIaT...| AT Hed g " Wwﬁmvﬁﬂmmwﬁmﬁ%sﬁ?mﬁm
P E B2 1 RO R HIEw B Maedl WRTe 81 @1 3" & IT) a1clf b gedb 1 €1 ol ] q3)
el & fob 78T Sff v Jod © @ TS o B ©] 31U BTH-H & T AL @A Tt 31d & SR
WHR Ta §1 8] A AR IR T SHHER AN § o gAR 39 URWR & Wl 9 81 U g A
T 3P R i €, o AreRur-t a1d W o S ST R < 8] Al 3 Uy O o 3
T TR 61 T IRIBT T81 AT ST TR} Sachd S b1 dof UR 310 171d 1 HIG-T IaTd
Tl 3] | 39 g & Bl €l B, grrors o 1 S € Qe 1S febeht & wifd it e fera
TR-IRR € foT RER ga-afeand ok Te-gR & gra-ad o e g fears uga g

SubQuestion No : 16
Q.16 JFIYROT g1 W HI EITHT I TST B d 282
Ans X A OGFH & uRfd @
X B.7ld ¥ oMU T_Iq Aeigy
o C. SR foreg 3/ A
X D. 3ifR® YEl-ued ard

Question ID : 97675518085
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Comprehension:

¥ fu M eI & a1e 5 Uy AU T €1 39 TR &Y eHgde ug SR IR fadwedt § § udd
Uy &1 Farad I g |

IR AGH & 3 IRIG W Feurd W T T aTd AT 96d 8- RaRiard, Toigg, tard,
FHESAA...| T HEA & mwﬁmvmmwwﬁwfséﬁmﬁm
P IT &2 3T RO R Heed B Haed] BXE 81 61 3" & STH a1t 3 g 1 & ol 5| T
Ul & 3 7t S AT Jed € & RIS AN 81 ] 3R FTH-UTH 3 &t AT W T 31 § 9T
@R = I 8] T AR W TS SHAER @ & S gAR 39 URIR & RN 9e@ 81 MU g 3
T 3iMRY R A e €, o FreRur-g a1d W+ ST ST B ¢ §) il & urg A Y o
TRIT UR TG BT TR a1 SAT1| eIl TR} Befehd ST P sl UR 374 fa@rd b1 HiaHT SaTel
@l 3| | 39 g A Ho1-GAAl sl 8, gruTdTS i B S & e IS bt & Wil T1ig T st
GIR-ATER g faT TRER gHa-aformd iR Toh-ga & gi8-ag | QNHd gid fG@Ts usd g

SubQuestion No : 17
Q.17 g9 gfrar & ser-gRt e 8 - s g T I Eda

Ans X A UEF Bl IHIM A TS

" B. TIid ¥ TR 31 §9 RIS
X C. 3R fooeg 3R @
X D. TTa q e ff s HSIR] BT g

Question ID : 97675518086

Comprehension:

F fu M e & a1e 5 Uy AU A €1 39 TR &Y eHgde U SR IR fadwed § § udd
UY &1 Jarad IR |

IR B & 3 IRTE W Heury IR WH @M ald a1 964 &- RaRiard, Jorgg, B,
FHEGE...| I HEA & ' mwﬁmvmmwwﬁmﬁéﬁ?mﬁm
P IT &2 3T RO R Foed B HTaled] BX6 81 61 3" & ST a1t 3 g 1 & ol 5| T
Ul & 3 78T S T Jed € 3 RIS AN 81 ] 3R FTH-UTH 3 &t AT W T 31 § SR
@R = 1 8] T AR W TS SHER @ & S gAR 39 URIR & RN 9e 81 MU g 3
T 3IMRY R A e €, o FreRur-g a1d W+ ST ST R ¢ ©) il & Uy g ay o
T UR 6 1 IRIBT -TET SATT| SO TR Sadhd S I dof UR 30 [G@1d 1 HIGHT IaTd
@ﬁéusﬂgﬁmﬁaﬂﬁ'—ﬁﬁ% BrTTs o) ) ST A 1S frt & URd Tiis Y aifera
TR € o RER gga-afaand 3R Th-giR & g-ad § Wi eid s usd B

SubQuestion No : 18
Q.18 @S AN F} Rrwraal w1 5o § T Aar1 82
Ans X A TGH I SHdI-USI @
X B. Riamad &1 aF1 1 3ed et &
X C. 98 5l a1d &1 iR 9 =& o
o D. ¢ a1d A TR SR SHMER §

Question ID : 97675518084
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Comprehension:

F fu M e & a1e 5 Uy AU T § 1 39 TR &Y eHgde ug SR IR fadwed § § udd
Uy &1 Farad IR g |

IR AGH & 3 IRTG W Feury W T T aTd AT 96d 8- RaRiard, Toig, tard,
FHESHAA...| T HEd & W@ﬁmvmmwwﬁwfséﬁmﬁm
P IT &2 3T RO R Heed B Haled] EX6 81 61 3" & STH a1t 3 g 1 & ol 5| T
Ul & 3 7t S T Jed € 3 RIS AN B ] 3R FTH-UTH 3 &t AT W T9 31 § SR
@R = I 8] T AR W TS SHAER @ & S gAR 39 URIR & RN 9e@ 81 MU g 3
T 3MRY R A e €, o FreRur-g a1d W+ ST ST B ¢ B il & Uy A Y o
TRT UR TG BT TR a1 SAT1| eIl TR} Befehd ST P sl UR 374 fa@rd bl HiaHT SaTel
@l 3| | 39 g H Fo1-G-A BIeh 8, STUTTS i B I © <Afcb IS bt b U TMia a1 e
GIR-ATER g faT TRER §Ha-afermd iR Toh-ga & gi@-ag | Qe gid fG@Ts usd g

SubQuestion No : 19
Q.19 3% | FI - A1 AR F1 wafgard T8 32
Ans g A fadid
X B. sffaia
X C.3ug
X D. 3y

Question ID : 97675518087

Comprehension:

F fu M e & a1e 5 Uy AU T § 1 39 TR &Y eHgde U SR IR fadwedt § § udd
UY &1 Jarad IR |

IR S & 3 IRTE W Heury IR WH @M ald T 964 &- RaRiard, Jefg, B,
FHEGE...| ITHEA G W@ﬁmvmmwwﬁmﬁ%@?mﬁm
P IT &2 3T RO R Foed B HTaled] BX6 81 61 3" & ST a1t 3 g B & ol 5| T
Tl & 3 7t S T Jed € 3 RIS AN 81 ] 317 STH-UTH 3 &t AT W T 31 § SR
@R = 1 8] T AR W TS SHFER @ & S gAR 39 URIR & IR 9e 81 MU g 3
I R SR & A €, O YRS a1d W S @S R 3 ¢ i 3 Uy Tt e
T UR 6 1 IRIBT -TET SATT| LS TR Sadhd S b1 dof UR 30 [G@1d 1 HIGHT IaTd
@TEﬁ%HEHQ‘ﬁHTﬁWﬁ:ﬁa?ﬁ% BrTTs +ff ) STt § A PIS frt & R 1Y TRt sierd]
TR € o ER gaa-afaard 3iR Th-giR & g-ad § Wi gid s usd B

SubQuestion No : 20

Q.20 39 DT FT HI§ IUYH M-
Ans X A 5 ORar

" B. RIS SATCR @I
X C. & 3t Rrera
X D. 31y ASTgR

Question ID : 97675518088

Section : Discipline1

QA1 A plock of weight 250 N is placed on an inclined plane, which makes an angle of 20" with the horizoatal. The
components of this weight parallel to the inclined plane and perpendicular to the inclined plane are and
, respectively.

Ans X A 204.2N,36.59 N
B 855N,234.92N
Xc 72.5N,56.25N
XD 92.85N, 182.6 N

Question ID : 97675518091
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Q.2 Calculate the distance of a centroid from the top of a T-section wherein width of the flange = 150 mm, height of the
flange = 10 mm, width of the web = 10 mm and height of the web = 140 mm.

Ans XA 72.98 mm
+ B 41.2]1 mm
X C. 55.68 mm
X D. 68.23 mm

Question ID : 97675518094

Q.3 A 20-mm-thick s0il sample takes 20 min to reach 20% consolidation. The time taken for a G-m-thick clay laver to reach
40%% consolidation is . |Assume double drainage in both cases.)

Ans A 14.2 years
X B. 12.2 years
X C. 15.6 years
« D. 13.7 years

Question ID : 97675518106

Q4 1n bolted connections, the minimum pitch allowed as per IS: 800-2007 is:
Ans XA 2.7 = diameter of the bolt

+ B. 2.5 x diameter of the bolt

X C. 1.5 = diameter of the bolt

X D. 3 x diameter of the bolt

Question ID : 97675518097

Q.5 A simply supported beam AB of length LD m carries point loads 100 KV and 80 kN at a distance of 2 m and 6 m,
respectively, from end A, Tt also carries a uniformly distributed load of 10 EN/m between the point loads. The support
reactions at A and B are and . respectively.

Ans X A 163 kN, 57 kN
X B. 54 kN, 166 kN
¢ C. 136 kN, 84 kN
X D. 25 kN, 195 kN

Question ID : 97675518092

Q.6 A single bolted lap joint is used to connect two plates 8 mum thick. If bolts of 20 mm diameter are used at 60 mm pitch
and if we use Fe410 plate and 4.6 grade of bolt, then the efficiency of the joint is

Ans XA 45.23%
« B. 31.94%
X C. 51.23%
X D. 21.45%

Question ID : 97675518100
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Q.7 Which of the following is the correct expression for caleulating the direction (8) of the resultant force between two
forces P and Q. Take angle between the forces as o

" e
X B. B=tan'1( %
e
XD B=tan'l( Pi;z:;u

Question ID : 97675518089

Q.8 A strip footing is Lm wide at its base. Tt is located at a depth of 0.8 m below the ground level, Consider unit weight of
soil = 18 kN/m’, cobesion = 30 kN/m? and the angle of friction = 20", Caleulate the safe bearing capacity of soil using
terzaghi’s analysis. (Take N;= 3.9, N. = 11.8, N, = 1.7, factory of safety = 2.5.)

XA 112.09 KN/m?
X B. 108.33 kN/m?
¢ C 131.62 kKN/m?
XD [26.24 kN/m?

Ans

Question ID : 97675518108

Q.9 The natural water content, liqmid limit and plastic limir of a clay sample are 2006, 400 and 18%, respectively. Its
liquidity index is:

Ans XA 0.06
X B. 0.07
X C. 0.08
+ D. 0.09

Question ID : 97675518103

Q.10 If a soil sample in itz namral state is fully samurated. it will have warer content of 30%. The total weighr of water
required to saturate a soil mass of volume 10m? is: (Assume G,=2.60.)

Ans XA 440 KN
X B 220 KN
X C 22KN
« D44 KN

Question ID : 97675518101

Q.11 A truss member consists of two angles of ISA 752 75=6. which are placed back to back carrying an vltimate tensile load
of 200 KN. The member is connected to an 8-mm thick gusset plate placed in between the two connected legs using 16
mm diameter bolts of grade 4.6, How many bolts are required? (Assume £, of plates as 410 MPa.)

Ans XA G
B 4
Xc 2
XD. 8

Question ID : 97675518098
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Q.12 The diameter of a clean capillary tube is 0.06 mm. Determine the expected rise of water in the tube.

Ans A 50 cm
X B 42cm
X C 35cm
X D. 27cm

Question ID : 97675518104

Q13 The correct unit of force among the following is:
Ans X A kg-m/sec
X B. Kg/m/sec

X C. I\{g,ftn.e’se‘::2

D kg-m/ sec?

Question ID : 97675518093

Q14 yWhat is the full form of ISMC?
Ans X A Indian standard mortar and cement
« B. Indian standard medium weight channel

X C. Indian standard for mixing cement

X D. Indian standard mean compaction

Question ID : 97675518099

Q.15 Aclay layer of 6 m thickness has an existing overburden pressure of 300 kpa at the centre of the clay layer. The pressure
is expected to increase by 150 kpa due to a new building, By taking ¢, =045, w = 50% and G = 2.71, calculate the
consolidation seftlement.

Ans X A 147.25 mm
# B. 198.56 mm
X C. 250.84 mm
« D. 201.88 mm

Question ID : 97675518105

Q.16 A circular area of 6 m diameter carries a uniformly distributed load of 10 KN/m?, The vertical stress at a depth of 5 m is:

XA 1.79 KN/m?
X B. 820 kN/m?

Ans

¥ C 3,69 KN/m?
X D. 488 KN/m?

Question ID : 97675518107
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Q17 If two concurrent forces P and Q of magnitude 25 N and 50N are acting away from the point of concurrency and
inclined af angles 15”7 and 30° with the horizontal plane respectively, the magnitude of the resultant force is:

Ans XA 64.25N
B 7443 N
X C 8526N
XD 58.63N

Question ID : 97675518090

Q18 The equation that represents the A-line on the plasticity chart is:
Ans s A L,=0.73(w; -20)

X 8. wi=0.73(I, - 20)

X c. I,=02(w;-73)

XD W= G,Q{Ip -73)

Question ID : 97675518102

Q.19 Aboat is rowed at a velocity of 30 kmv'h across (perpendicular to the dirsction of stream) a river. The velocity of the
stream is 10 km'h. The resulmant velocity of the boat (in km/h) is:

Ans XA 47.28
+ B. 3].62
XC 425
X D. 51.42

Question ID : 97675518095

Q20 Which of the following is the main advantage of rivets in steel construction?
Ans . A They do not loosen when subjected to vibration.

X B. They need pre-heating.

X C. They provide an aesthetic finish

X D. Less workforce is required.

Question ID : 97675518096

Section : Discipline2
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@1 Match the following

Traffic sign General shape
1 .regulatory signs a. triangular
2. warning signs b. rectangular
3.informatory signs c. circular

Ans @A 1-c, 2-a, 3-b
X B. l-¢, 2-¢, 3-a
X C. l-a, 2-b, 3¢
X D. 1-b, 2-a, 3-¢

Question ID : 97675518125

Q.2  Plate load tests were conductad in a ¢-0 soil on the plates of two differsnt sizes and the following data was obtainad.

Load | Size of plate Sertlement
40BN |03mX 03m 25 mm
100kN | 0.6m X (.6m 25 mm

The size of the square footing required to carry a load of 600 KN at the same specified settlement is:

Ans XA 1.75m
XB 2.15m
XC 227Tm
«D 1.92m

Question ID : 97675518111

Q.3 Ina braking test, a vehicle travelling at a speed of 40km'h was stopped by applying brakes fully; the skid marks were
6.3 m in length. The average skid resistance of the pavement surface is (fake g = les'z):

Ans X A 0.86
X B 0.72
X C 0.6l
« D. 0.98
Question ID : 97675518122
Q.4 Inacollision diagram, the symbols —o+— and — e« represent and , respectively.

Ans X A parked vehicle, fixed object
+ B. personal injury, fatal accident
X C. rear-end collision, front-end collision

X D. side swipe, out of control

Question ID : 97675518124
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Q.5 According to IS 456 : 2000, for a nominal 1.5-hour fire resistance, the nominal covers specified for the simply
supported beams, slabs and ribs are 4

Ans 5 A 20 mm, 25 mm and 40 mm
« B. 20 mm, 25 mm and 35 mm
X C. 20 mm, 25 mm and 20 mm

Z D. 20 mm, 20 mm and 40 mm

Question ID : 97675518128

Q6  Nfaximum width of all vehicles excluding the front and rear bumper is:

Ans @A 25m
XB 22m
XC l.8m
XD 32m

Question ID : 97675518121

Q.7 Which TS code is referred to for the ductile detailing of relnforeed concrete structures subjected to seismic forces?
Ans o A TS 13920 : 1993

X B. IS 1343 ; 1980

X C. IS 875:1987

X D. IS 1893 ;: 2002

Question ID : 97675518127

Q8 The lustre of pyrite is:
Ans XA vitreous

X B. silky

X C. dull

+ D metallic

Question ID : 97675518118

Q.9  The strength of a sample of fully matured concrete is found to be 40 MPa. Find the strength of identical concrete ar
the age of 7 days, when cured at an average temperature of 207 C during daytime and average termperature of 10° €
during night time (take A =32 B = 54).

Ans X A 17.28 MPa
« B 20.63 MPa
X c. 29.23 Mpa

X D. 22,56 MPa

Question ID : 97675518113
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Q.10 High tensile steel usually contains % ofcarbonand % of manganese.
Ans XA 0.7t00.85and 0.75 to 1

X B 0.6t00.85and 0.75to 1

+C 0.6t00.85and 0.7to 1

XD 0.7t00.85and 0.7to 1

Question ID : 97675518126

Q.11 Which of the following is/are true about cast-in-situ piles?

a) Piles of any size and length may be construected at the site.
b) The damage due to driving and handling, which is common in the precast piles, is eliminated in this case.
¢) They are suitable in soils of poor drainage qualities.

d)They cause vibrations and affect the surrounding structures.

Ans A a.band conly
X B. d and ¢ only
X C. b, canddonly
X D. aand b only

Question ID : 97675518112

Q12 4 concrete pile of diameter 30 cm is driven into a homogenous consolidated clay deposit having coliesion of 40 KN/m?
and adhesion factor of 0.7. If the embedded length is 10 m, the safe load is . {Take factor of safety as 3.)

Ans X A 7395 kKN
X B 82.15kN
+ C 0645 kN
X D. 56.25 kN

Question ID : 97675518110

Q13 The acute vision cone is around degrees around the line of sight.
Ans s A 3

XB. 5

XcCo

XD 7

Question ID : 97675518120

Q.14 wWhich of the following options is INCORRECT with respect to the plate load test?
Ans X A
The bottom of the pit should coincide with the level of the foundation.

+ B.
The size of the plate should be equal to the size of the footing.

X C.
A seating load of about 70 grﬂ.f::-r:n2 is first applied and released after some time.
X D.

The test should continue until a total settlement of 2.5 cm or the settlement at which the =oil fails, whichever iz earlier.

Question ID : 97675518109
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Q15 From the following information, identify the critical path.

Activity | Time in weeks | Preceded by
A 15 -

B 15 -

C A

D 5 A

E 8 B E
F 12 B C
G 1 E

H 14 E

I 3 D, G
I 14 FH.I

Ans X A B-F-J
X B. B-E-G-I.T
¥ C A-C-E-H-J
X 0. A-C-E-G-I-J

Question ID : 97675518114

Q.16

Ans A directing subordinates

& B. task co-ordination

X C. problem solving

& D. conflict resolution

Horizontal communication does NOT include:

Question ID : 97675518115

Q.17 Which of the following is NOT a method used to obtain self-compacting concrete?

Ans X A Use of plasticizers

X B. Low water-powder ratio
X C. Limited aggregate content

« D. Increasing the water content bevond 350 litres per cum

Question ID : 97675518119

Q.18 The correct order of steps involved in preparation of brick earth for clay brick manufacturing process is:

Ans

X B. digging—>weathering—2>blending—=>tempering—2>unsoiling
« C. Unsoiling—2>digging—=>weathering—2blending—>tempering
# D. Unsoiling=>tempering—>digging-> blending—=>weathering

X A digging—=>weathering=>unsoiling=>tempering=> blending

Question ID : 97675518116
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Q19 YWho defined management as 'the art of getting things done through people'?

Ans

X A Henri Fayol

# B. Newman and Summer

X c. George R Terry

+ D. Mary Parker Follett

Question ID : 97675518117

Q20 From the data in the given table, the modal speed is:

Ans

Speed No. of speed
range, observations
ki

0-10 0

10-20 1l

20-30 30

30-40 105

40-50 233

30-60 216

60-70 68

70-80 24

80-90 0

¥ A 47 km'h
X B. 37 km'h
X C. 32 km'h
X D. 55 km'h

Question ID : 97675518123

Section : Discipline3

QA1

Ans

Lysimeters and field plots are used to measure:

X A. interception

+ B. evapotranspiration
X C. infiltration
X D. precipitation

Question ID : 97675518141
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Q.2 Find out the rotational factor for joint *C’ using Kani’s method for the following figure.

Ans

Member RF

XA CB -0.25
CD 0.25

Member RF

X B. CB 0.25
CD 0.25

Member EF

X C. CB 0.25
CD -0.25

Member RF

« D. CB -0.25
CDh -0.25

Question ID : 97675518137
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Q.3

Ans

120N 12N

; l 4 5 4kN/m C!

b (111 —aefa |0 e (1} =]

i

nm_——r

3m

Im

L

From the above figure,

10

o

find out the distribution factor for joint *B* using moment distribution method.

Member DF

BA 0.4

A.

v BE 0.3
BC 0.3

Member DF

X B. EBA 0.4
BE 0.4

BC 0.3

Member DF

X C BA 0.3
BE 0.3

BC 04

Member DF

XD BA 0.3
BE 0.4

BC 0.3

Question ID : 97675518134

Q4 Match the following.

Ans

Type of lining Values of Manning’s
Rugosity Coefficient
*n® for straight
alignment

1. Brick lining A.0.018-0.020

2. Split boulder B.0.025-0.035

lining

3. Round boulder | C.0.020—0.025

lining

X A 1-A,2-B, 3-C
X B. 1-C,2-A, 3-B
#C 1-A,2-C,3-B
X D. 1-C, 2-B, 3-A

Question ID : 97675518146
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Q.5 A three-hinged symmetric circular arch has a span of 60 m and a rise of 12 m. Find the vahie of *6' from the given
figure by using properties of circle formula.
¢
h=12m
H
@
é‘- = il m e -:f =3m
i e L
Ans XA §=6.928°
' B. §=7.0928°
X C §=09.028°
XD §=8.028°
Question ID : 97675518135
Q.6 petermine the time taken to irrigate a strip of land 400 m” in area and with a discharge through supply ditch of 70.5

Ans

m?/hr. The irrigation capacitv of the soil is taken as 0.05 nvhr and the average depth of the water flowing over the
border strip is 0.1m.

X A 35 minutes
X B. 45 minutes
+ C. 40 minutes
X D. 30 minutes

Question ID : 97675518143

Q.7

Ans

In case of pin-connected trusses. which method is used to find the deflections of a single joint at a time?

& A Stiffhess matrix method
& B. Willot-Mohr’s method

X C. Joint displacement method

+ D. Castigliano’s method

Question ID : 97675518133

Q.8

Ans

A cal be defined as a plot of intensity of rainfall against the time interval, represented as a bar chart,
which is used for analysing precipitation data.

X A hydrograph
X B. depth area duration curve
+ C. hyetograph
# D. mass curve

Question ID : 97675518138

Q.9

Ans

For highways. the maximum legal axle load as specified by IRC is with a maxinmm equivalent single wheel load
of :

X A 8170 kg, 4850 kg
X B. 8710 kg, 4580 kg
X c. 8710 kg, 4805 kg
«D. 8170 kg, 4085 kg

Question ID : 97675518148
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Q.10 Using strain energy,

which formula is used to find the deflection of the free end of the cantilever beam of length ‘L’ subjected to
concentrated load ‘p’ at the free end?

e ANRARR
——
-1

l |
Ans 3
PL
KA A=—
2El
pr?
KB A= —
4ET
pr?
¥ C A= —
3ET
pL?
XD A= =
EI

Question ID : 97675518132

Q.11 A catchment has 3 rain gauge stations. In a year, the annual rainfalls recorded by the gauges are as follows:

Station A B C
Rainfall 80 100 180
(cm)

For a 9% error in the estimation of rainfall, calculate the optimum number of stations in the catchment.

Ans XA |5
X B 32
¥ C 24
XD. 18

Question ID : 97675518142

Q.12 1p case of slenderness limits, according to IS 436 — 2000, the ratio of vnsupported length (1) to the least lateral
dimension (d) of a column should not exceed a value of

Ans XA 30
X B. 45
X C 350
« D. 60
Question ID : 97675518130
Q.13

A rectangular reinforced concrete beam of size 250 mm x 600 mm is simply supported on fwo masonry walls 230 mm

thick and 6 m apart (centre to centre). A beam has to carry, in addition to its own weight. a distributed live load of 10
EI¥'m and a dead load of 5 KIN/m. Determing the factered momenr.

(Take safety factor as 1.5 and effective cover as 50 mm.)

Ans XA 121 KNm
+ B. 126 KNm
X C. 142 KNm
X D. 169 KNm

Question ID : 97675518129
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Q.14 The is used under rigid pavement for preventing pumping and protecting the subgrade under frost action
Ans XA sub base course
X B. soil subgrade

+ C. base course
X D. surface course

Question ID : 97675518147

Q15 By which of the following formmulas can we measure the excess rainfall?

Ans o A Excess rainfall = Rainfall - initial basin loss - infiltration
X B. Excess rainfall = Rainfall + initial basin loss + infiltration
X C. Excess rainfall = Rainfall - initial basin loss + infiltration
X D. Excess rainfall = Rainfall + initial basin loss - infiltration

Question ID : 97675518140

Q.16 A pre-swessed concrete beam 100 mm wide and 300 mm deep is pre-stressed by swaight wires carrying an inirial
force of 150 KN at an eccentricity of 50 mm. Determine the loss of pre-stress due to elastic deformation of

concrete if the area of steel wires is 188 mm?, Take E, and E_ as 210 kN/mm® and 35 kKN/mm?®

Ans

¥ A 40 N/mm?®
X B 60 N/mm”
X ¢ 20 N/mm?
X D 80 N/mm?

Question ID : 97675518131

Q17 Trickle irrigation is also known as:
Ans X A flood irrigation

« B. drip irrigation

X C. sub-surface irrigation

X D. lift irrigation

Question ID : 97675518145
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Q.18

Ans

EDN=-=0 =mrooden Z-» 5

Identify the type of flooding shown in the given figure.

X A. Check flooding
X B. Border flooding
« C. Free flooding

X D. Basin flooding

Question ID : 97675518144

Q.19

Ans

A lake had a water surface elevation of 102.91 m above datum ar the beginning of the month. The average lake surface
area can be taken as 5000 ha.

Given,

1. Inflow volume = 16 Mm®

2. Quttlow volume = 16 Mm®

3. Input due to precipitation = 7.5 Mm®
4. Outflow due to evaporation = 3 Mm?

Find out the net water surface elevation at the end of the month.

XA 10325 m
X B. 102.5m

XC 102.75m
«D. 103 m

Question ID : 97675518139

Q.20

Ans

Find out the degree of internal indeterminacy, external indeterminacy and total redundancy from the given rigid joint
truss.

A
XAT=8;E=4T=12
vB I=9,E=3T=12
Xc.1=6,E=6T=12
X0 I=7,E=5T=12

Question ID : 97675518136
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Section : Discipline4

Q1 Pick the correct statement with respect to municipal solid wastes.

Ans A
Both The smaller size of the constituents aids in the faster decomposition of the waste; and The higher is the standard of
living, the more is the waste produced.

X B.

The smaller size of the constituents aids in the faster decomposition of the waste.

x C.
The higher is the standard of living, the more is the waste produced.

X D.

The larger size of the constituents aids in the faster decomposition of the waste.

Question ID : 97675518168

Q.2  The cucrent national anibient air quality standards in India were notified on by the central pollution control
board.

Ans X' A. 18 November 1904
X B. 18 November 1984
+ C. 18 November 1994
X D. 18 November 2009

Question ID : 97675518162

@3 The nature of wastewater produced by mercerization operation is:

Ans X A with high BOD
X B. strongly alkaline
« C. strongly alkaline and with low BOD both
X D. with low BOD

Question ID : 97675518157

Q4 which of the following statements is/are correct with respect to carbon monoxide?

a) Carbon monoxide is a permanent pollutant.

b) Natural processes convert carbon monoxide to other compounds that are not harmful.
Ans

X A. Only statement a) is true.

X B. Both the statements are false.
« C. Only statement b) is true.

/< D. Both the statements are true.

Question ID : 97675518163

Q.5 Which Indian standard code specifies the classification of precast concrete pipes?
Ans X A 1S:801:1975

X B. 1S:456:2000

« C. 15:458:2003

X D. IS:1343:2012

Question ID : 97675518154
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Q.6 According to IRC, the maximym spacing berween expansion joints should notexceed  for rough interior swface.
Ans XA 120m

+ B 140 m

XC 150m

XD 110 m

Question ID : 97675518151

Q.7  AsperI5 2296-1982, which category of surface water can be used as drinking water source without conventional
freatment but after disinfection?

Ans X A. Category B
« B. Category C
X c. Category D
X D. Category A

Question ID : 97675518156

Q8  Which of the following statements is/are correct with respect to dve wastes?

Ans X A COD : BOD ratio is very low.

X B. COD : BOD ratio is very high.
 C.

COD : BOD ratio is very high; and dye wastes not only come from dyes but also from the chemicals used in
manufacturing industry.

X D.

Dye wastes not only come from dyes but also from the chemicals used in manufacturing industry.

Question ID : 97675518158

Q.9 Read the following assertion and reason and select the correct aption,

Assertion{A}:Copper sulfate should not be used for the control of aquatic weeds, except for algae.

Reason(R): The concentration of copper sulfate required to destroy vegerarion will assuredly kill any fish present in the
water and probably exceed permissible levels in drinking water.

Ans o A
Both A and R are true and R is the correct explanation of A.
X B.
Both A and R are true and R is not the correct explanation of A.
X C. Alistrue but R is false.

X D. A is false but R is true.

Question ID : 97675518159

Q10 The compound responsible for causing permanent hardness is:

Ans X A Mg(HCO3),

x B. Both Ca(HCO3), and Mg(HCO3),
X c. Ca(HCO3)p

« D. CaSO4

Question ID : 97675518160
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Q1 What is the full form of RSPM?
Ans . A Respiratory Suspended Particulate Matter

X B. Respiratory Small Particulate Matter
X C. Respiratory Solid Porous Material
X D. Respiratory Soluble Particulate Matter

Question ID : 97675518165

Q12 Which of the following is an example of a primary air pollutant?
Ans A NO

X B O3

X C. PAN

X D. Formaldehydes

Question ID : 97675518161

Q.13 Under the wheel load stress, Goldbeck’s formula for stress due to the corner load is given by:

Ane XA s, = 5P’
X B. S =4P/h?
& C. S.=3P/h?

X D. §.=2P/h?

Question ID : 97675518153

Q.14 Under the design of dowel bars. for a design load being 5100 kg, IRC recommends 2.5 cm dowel bars of length 50 em
to be apaced at 30 em in case oft ;

Ans A 20 cm thick slab
X B. 25 c¢m thick slab
X C. 15 cm thick slab
X D. 30 cm thick slab

Question ID : 97675518152

Q15 The largest potential market for the compost is the:

Ans X A processing sector

X B. industrial sector

X C. textile industry
« D. agricultural sector

Question ID : 97675518167
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Q.16 Under the design of rigid pavement, find the value of radius of relative stiffness of 15 ¢m thick cement conerete slab
from the following data.

1. Modulus of elasticity of cement concrete (E) = 250000 kga'cmz

2. Poisson’s ratio for concrete = 0.13

3. Modulus of subgrade reaction (K) = 0.3
Ans X A 60 cm

X B. S0cm
« C. 70 em
X D. 65 cm

Question ID : 97675518149

@17 Find the spacing of expansion joint (L) from the given data:

1. Half the joint width=1.25 cm

2. Thermal expansion of concrete = 10 10 per°C

3. Temperature rise = 31 °C
Ans XA 39m

X B 38m

XC 42 m

#D. 40m

Question ID : 97675518150

Q.18

Earthworms excrete the mucus-coated undigested matter as:
Ans o A wormcasts

X B. vermiculture

X C. compost

X D. vermicomposting

Question ID : 97675518166

Q.19 A barder region between two adjacent air masses having different characteristics, such as temperature and humidity, is
called;

X A glaze

Ans

# B. non front
& C. turbulence
« D. front

Question ID : 97675518155
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Q.20 Read the following assertion and reason and select the correct opfion.

Assertion (A): Alkenes (olafins) are found to be harmful.

Reason(R): Alkenes (olefins) are unsaturated and highly reactive in the atmosphere through photochemical reactions.
Ans XA Ais true but R is false.

B
Both A and R are true and R is the correct explanation of A.

X C. Alis false but R is true.
X D.
Both A and R are true and R is not the correct explanation of A.

Question ID : 97675518164

Section : Discipline5

Q1| chain length of a gunter’s chain is equal to:
Ans X A 68 fit

« B g6 ft

XC 581t

X D. 60 fi

Question ID : 97675518177

Q.2 Read the following assertion and reason and select the correct option.

Assertion(A): The nutrients present in the wonmeast are easily soluble in water and thus readily available for plant
growth.

Reason(R): Wormeasts consists of organic marter that has undergone physical and chemical breakdown through the
mmuscular activity that grinds the material to a particle size of | to 3 nucron.

Ans XA A s true but R is false.
X B.
Both A and R are true and R is not the correct explanation of A.
& C
Both A and R are true and R is the correct explanation of A.

X D. A is false but R is true.

Question ID : 97675518169

Q.3 Incase of the cycling infrastructure, a low traffic street that restricts cars to a slow speed and grants bicycle priority use
of road is knawn as :

Ans X A traffic calming

X B. contraflow lane
« C. bicycle boulevard

& D. traffic reduction

Question ID : 97675518183
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Q.4 A surveyor measured the distance between two points on the plan drawn

to a scale of | cm = 50 m, and the result was 528 m. Later, however, he discovered that

he nsed a scale on whichl cm = 20 m. The true distance between the two points is:

Ans XA 826 m

X B 958 m
X C 1052 m
« D 1320 m
Question ID : 97675518178
Q.5 Under waterways infrastructure, a‘an iz a long excavated chamber, having side walls, a semi-circular end

wall and a floor.
Ans A graving dock
X B. marine railway
X c. floating dock

& D. lift dock

Question ID : 97675518187

Q.6 Which of the following is the correct equarion thar specifies the relation of sound pressure with total atmospherie
pressure and Barometric pressure?

Ans o A
Sound pressure = total atmospheric pressure - Barometric pressure

X B.
Sound pressure = total atmospheric pressure + Barometric pressure

X c.
Sound pressure = total atmospheric pressure — Barometric pressure

X D.
Sound pressure = total atmospheric pressure * Barometric pressure

Question ID : 97675518172

Q7 15:4954-1968 (R2014) specifies:
Ans X A
code of practice for reduction in noise levels in industrial buildings

B

Both acceptable outdoor noise levels in different types of residential areas and acceptable indoor noise levels in different
types of residential areas

x C
acceptable indoor noise levels in different types of residential areas

X D.
acceptable outdoor noise levels in different types of residential areas

Question ID : 97675518173
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Q.8 An observer standing on the deck of a ship just sees a lighthouse.
The top of the lizghthouse is 40 m above the sea level and the height of the observer's

eye is 8 m above the sea level. If A is the position of the top of the lighthouse and B is the position of the observer’s eye,
the distance between A and B is:

Ans XA 3529m
X B. 42,56 km
XC 42.56m
D 3529 km

Question ID : 97675518176

Q.9 The rate of doing work by a travelling sound in the direction of the propagation of the wave is called:

Ans X A sound intensity

+ B. power of sound
X C. sound pressure

# D. specira

Question ID : 97675518175

Q.10 Pick the correct sequence that is adapted for composting of municipal solid wastes in mechanised plants.

A) Grinding or pulverising of refuse
B) Segregation of refuse
C) Receipt of refuse

D) Digestion or fermentation of refuse
Ans X A. B»C—A—D
B C—=B—A—D
X C. A—»B—C—D
X D. C—=A—B—D

Question ID : 97675518170

Q.11 T case of road infrasiructure,

the seven-phase NHDP is being implemented by the National Highways Authority of India (NEAIL) with a total
estimated expenditure of

Ans X A. USD 86 billion
« B. USD 92 billion
& C. USD 76 billion
X D. USD 81 billion

Question ID : 97675518186

Q.12 The long and short sides of a rectangle measure .28 m and 4.36 m. with error margins of =6 mum, The area to correct
number of significant figures is=

Ans

XA 36.14 m?
X B. 36.18 m?
¥ C. 36.10 m*
XD 36.02 m?

Question ID : 97675518182
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Q.13 A ventical circle that is at the right angles to the meridian and that therefore passes through the east and west points of
the horizon is called:

Ans X A. The visible horizon
X B. co-latitude
« C. prime vertical

X D. right ascension

Question ID : 97675518180

Q.14 In case of milway infrastructure, the thickness of ballast for high density broad gauge track is and for medium
density track is

Ans %A 350 mm, 300 mm
X B. 250 mm, 200 mm
« C. 300 mm, 250 mm
X D. 200 mm, 150 mm

Question ID : 97675518185

15 Eora given frequency of 22 Hz, the second octave band would be from:

Ans XA 175 Hz to 350 Hz
X B 8Hzto 175 Hz
X C 22Hzto44 Hz
+ D 44 Hzto 88 Hz

Question ID : 97675518174

Q.16 On the broad-gauge lines, a station platform with a minimum lengthof  is desirable.
Ans XA 405 m

+ B 305m

XC 105m

X D. 205 m

Question ID : 97675518184

Q.17 The height of the peak sound pressure measured above or below zero pressure line is called:

Ans > A spectra

# B. pctave band

X ¢. frequency of the wave

+ D. amplitude of the wave

Question ID : 97675518171
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Q.18 Aninstrument was set up at P, and the angle of elevation to a vane 4 m above the foot of the staff held at O was 10°30°.
The horizontal distance between P and O was known to be 1500 m_ What is the reduced level of the staff station Q given

that the reduced level of the instrument axis was 256038 m?

Ans X A 2687.89m
B 2834.54m
X C. 2568.56m
X D. 2786.23m

Question ID : 97675518179

Q.19 A fluid in which the shear stress is directly proportional to the rate of shear strain is termed as:
Ans X A. Non-Newtonian fluid

X B. Tdeal fluid

X C. Real fluid

+ D. Newtonian fluid

Question ID : 97675518188

Q.20 A section line AP appears to be 10.18 cm on photograph, for which the focal length is 18 em. The corresponding line
measures 2.68 cm on a map, which is to a scale of 1/50000. The terrain has an average elevation of 210 m above the sea
level. The flying altimadz of the aircraft above the sea level when the photo was faken is:

Ans A 257935m
X B. 243569 m
XC 219826 m
X' D. 2806.12 m

Question ID : 97675518181
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Subject Assistant Engineer (Civil)

IRX: KUB :: ?
Ans  # A.MUD : OXH

X B. MHZ : KMA
X C.EQW: HVB
& D.NQE : PYH

Q.1 Select the option pair that shares the same relation between its clusters as shared by

the clusters given in question.

Question ID : 97675518192
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Q.2 Which of the following Venn diagrams best represents the relationship between
brothers, sisters and doctors?

Ans

B

BBGE

Question ID : 97675518202

Q.3 If A$ B means A is the mother of B, A # B means A is the son of B and If A * B means
A is the daughter of B, then what does P $ Q * R # S mean?

Ans X A.Sis the grandfather of P
+«" B. S is the father-in-law of P
X C.Sis the brother of P
5 D. Sis the father of P

Question ID : 97675518196
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Q.4 Which answer figure will complete the pattern in the question figure?

Ans

A 16);
A

.Lj

XA

EEE

—
©

>

X D.

>

/N

Question ID : 97675518206

Q.5 If GULP is coded as JXOS, then what is th code for SLACK?

Ans

X A. YOFGN
" B. VODFN
X C.XOCDM
X< D. WOCEM

Question ID : 97675518194
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Q.6 In the given question figure, four positions of the same dice are given. Which number
is at the opposite face of number 8?

3 2 a &

Ans X A.4
X B.3
X C.2
& D.1

Question ID : 97675518208

Q.7 Select the option that is related to the third term on the same basis as the second term
is related to the first term.
Insect : Larva :: Hen : ?

Ans X A.Cock
& B.Egg
X C. Mammal
«” D. Chick

Question ID : 97675518191

Q.8 The criteria for selecting a Branch Manager have been given as under:
The candidate must:
1. Be a graduate in any stream with at least 60% marks.
2. Be an MBA or hold a post-graduate diploma in any stream of management with 55%
marks.
3. Be between 30 and 40 years old on the date of application.
4. Should have work experience of more than 3 years
The following exceptions apply:
A. If a candidate meets all other criteria except 4 above, the candidate will be referred
to the General Manager.
B. A candidate whose age is more than 40 years but less than 50 years will be referred
to the HR Head.

Manisha Agarwal is a B.Com graduate with post-graduation in Finance. She has
scored more than 75% in graduation and 78% in post-graduation. She is 38 years of
age. She has been the branch manager of the town branch of a reputed firm for 1 year.

What decision should be taken about this candidate?
Ans X A. The candidate should be referred to the HR Head.

4 B. The candidate should be referred to the General Manager.
X C. The candidate should be selected.
5 D. The candidate should be rejected.

Question ID : 97675518197

Q.9 Select the option that is related to the third number on the same basis as the second
number is related to the first number.
13:115::23: 7

Ans X A. 192
X B.196
& C.205
2 D. 208

Question ID : 97675518201
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Q.10 Arrange the given words in the sequence in which they occur in the dictionary.
1. PRECODE
2. PRECISE
3. PREDICT
4. PRECEPT
5. PREDIAL

Ans X A.42135
X B.41235
& C.42153
X D.42351

Question ID : 97675518189

Q.11 Manisha walks 5 km east, then turns right and walks 6 km, then turns right and walks 8
km, then turns right and walks 6 km. Where is she now with respect to her starting
position?

Ans o A3 km west
X B.5km east
< C.5km west
& D. 3 km east

Question ID : 97675518203

Q.12 Kishore walks 150 m east, then turns north and walks 350 m, then turns to his right
and walks 250 m. At the same time, Anil walks 0.4 km east, then turns to his right and
walks 0.4 km. Where is Anil now with respect to the position of Kishore?

Ans X A.750 m north
" B. 750 m south
X C.5km south
25 D. 5 km north

Question ID : 97675518204

Q.13 Hina, Isha, Jessica, Kamini and Leela are sitting on a bench. Jessica is between Isha
and Leela. Hima is to the right of Isha. Kamini is not next to Leela. Who is to the right
of Hina?

Ans X A.lIsha
5 B. Jessica
X C. Leela
" D. Kamini

Question ID : 97675518195

Q.14 In the question two statements are given, followed by two conclusions, | and Il. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : All parrots are carrots.
Statement 2 : All carrots are pigeons.

Conclusion | : Some parrots are carrots.
Conclusion Il : All parrots are pigeons.

Ans X A. Neither | nor Il follows
« B. Both | and Il follow
2 C. Only conclusion Il follows

& D. Only conclusion | follows

Question ID : 97675518198
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Q.15 Find the wrong number in the following number series:
16, 32, 64, 128, 254

Ans X A.32
o B.254
X C.128
X D.64

Question ID : 97675518200

Q.16 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans

3|16
W A

419

314
X B.

219

2 |12
X C.

6 4

2 110
X D.

51| 4

Question ID : 97675518205

Q.17 In the question two statements are given, followed by three conclusions, |, Il and .
You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : All giraffes are jackals.
Statement 2 : No jackals are camels.

Conclusion | : Some camels are jackals.
Conclusion Il : All jackals are camels.
Conclusion Il : Some giraffes are camels.

Ans  # A. None of the three conclusions follow
#< B. Only conclusion | follows
X C. Only conclusion Il follows

Z< D. Only conclusion IlI follows

Question ID : 97675518199
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Q.18 If 23-27-32-36 is coded as 25-31-38-44, then what is the code for 13-11-15-17?
Ans X A.15-16-20-22

«# B. 15-15-21-25
< C. 15-14-18-20
< D. 15-13-17-19

Question ID : 97675518193

Q.19 Find the missing term in the following series :
uaw, , 012Q, L16N

Ans X A.Q6M
o B.R8T
< C.R10M
X D.P8Q

Question ID : 97675518190

Q.20 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans

Question ID : 97675518207
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Section : General Awareness

Q.1 As announced in the Budget 2021, was allocated for Covid-19 vaccine
by Indian Government.

Ans " A.Rs 35,000 crores
#< B. Rs 40,000 crores
X C.Rs 50,000 crores
< D. Rs 20,000 crores

Question ID : 97675518211

Q.2 law states that equal volume of all gases under the same conditions of
temperature and pressure contain equal number of molecules.

Ans X A. Bernoulli's
¥ B. Avogadro’s
/5 C.Boyles's
< D. Charles's

Question ID : 97675518215

Q.3 was considered by the British to be the Father of Indian Unrest.
Ans X A. Gopal Krishna Gokhale

#< B. Dadabhai Naoroji
X C. Mahatma Gandhi
«" D. Bal Gangadhar Tilak

Question ID : 97675518221

Q.4 Aga Khan lll and Moshin Mulk were involved in founding the Muslim League in

Ans o A 1906
X B.1912
X C.1908
X D. 1905

Question ID : 97675518219

Q.5 Who was the first Indian to win Olympic medals at two consecutive Olympic Games?
Ans X A. Sania Mirza

#< B. K.D. Jadhav
«# C. Sushil Kumar
#< D. Saina Nehwal

Question ID : 97675518228

Q.6 Which of the following is the first bank to introduce ATM in India?
Ans ¥ A. HSBC Bank

X B.HDFC Bank
X C.ICICI Bank
X D. SBI Bank

Question ID : 97675518212




Join Telegram Group "HaryanaJobs.in"

Q.7 Makaravilakku festival is associated with which of the following states?
Ans X A. Tamil Nadu

< B. Madhya Pradesh
#< C. Karnataka
¥ D. Kerala

Question ID : 97675518210

Q.8 Which among the following soils is also known as Usara soils?
Ans X A. Forest

X B. Arid
4 C. Saline
25 D. Laterite

Question ID : 97675518218

Q.9 Maruni, a famous dance form of Sikkim, is performed during
Ans X A war

2% B. childbirth
5 C. funerals
4" D. festivals

Question ID : 97675518209

Q.10 31st Constitutional Amendment increased the number of Lok Sabha seats from
to 545.

Ans X A.532
% B.535
o C.525
X D. 520

Question ID : 97675518226

Q.11 Who was defeated in the Battle of Chausa in 1539?
Ans X A. Akbar

X B. Shah Jahan
" C. Humayun
#< D. Babur

Question ID : 97675518220

Q.12 No Limits: The Will to Succeed' is the autobiography of
Ans X A. Usain Bolt

" B. Michael Phelps
5 C. Rafael Nadal
#< D. Vijay Hazare

Question ID : 97675518223
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Q.13 Which of the following is the highest peak in the state of Maharashtra as of August
20217

Ans o A Kalsubai
X B. Anjaneri
< C. Mount Everest
#< D. Lohagad

Question ID : 97675518217

Q.14 Part of the Indian Constitution deals with Finance, Property, Contracts and
Suits.

Ans X A.XI
X B.IX

o C.XIl
X D.X

Question ID : 97675518225

Q.15 Which among the following will host 2021 Men's ICC T20 World Cup?
Ans X A. England

X B. Australia
< C. New Zealand
" D. UAE and Oman

Question ID : 97675518227

Q.16 The headquarters of World Intellectual Property Organization is located in

Ans  # A Geneva
< B. Paris
< C. Vienna
X D. New York

Question ID : 97675518222

Q.17 is the largest phylum of Animalia which includes insects.
Ans o A. Arthropoda

2 B. Mollusca
#< C. Echinodermata
#< D. Platyhelminthes

Question ID : 97675518213

Q.18 What is the common name of Hansen's disease?
Ans X A. Chicken pox

< B. Plague
& C.Rabies

" D. Leprosy

Question ID : 97675518214
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Q.19 Which among the following is the largest tributary of Indus?
Ans X A. Sutlej

/< B.Beas
" C. Chenab
7 D. Ravi

Question ID : 97675518216

Q.20 Who won the Best Playback Singer (Male) award in the 65th Filmfare Award 20207
Ans X A. Nakash Aziz

& B. B Praak
o C. Arijit Singh
#< D. Sachet Tandon

Question ID : 97675518224

Section : Arithmetic Ability

Q.1 Three church bells toll at intervals of 15, 20 and 10 seconds respectively. What is the
time interval at which all the three bells toll together?

Ans X A.2minute
" B. 1 min
X C. 3 minute
< D. 5 minute

Question ID : 97675518233

Q.2 Solve: 12 + 12+6 - 12% of 100
Ans X A.20

X B.6
X C.12
& D.2

Question ID : 97675518231

Q.3 A cylindrical rice storage box has diameter 50 cm and height 56 cm. What is the
maximum quantity of rice that can be stored in the container? [1000 cu cm = 1kg]

Ans o A 110 kg
X B.11kg
< C. 100 kg
75 D. 1100 kg

Question ID : 97675518243

Q.4 P and Q stand 300 m apart from each other. They start running towards each other at
speeds of 12m/s and 18m/s respectively. At what distance from the starting point of P
do they meet?

Ans o A 120m
X B.180m
/< C.100m
< D.200m

Question ID : 97675518240
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Q.5 Two years ago, the age of Adil and Mustafa was in the ratio 2 : 3. Adil is now 10 years
old. What will their age ratio be 3 years later?

Ans o A 13:17
X B.11:14
K C.11:15
2 D.13:15

Question ID : 97675518238

Q.6 Which of the following digits are not divisible by 4?
Ans X A 432

% B.680
X C.456
o D. 342

Question ID : 97675518230

Q.7 Ram and Mohan can complete a work in 18 days and 24 days respectively. They
started working together alternatively starting with Mohan. In how many days the work
will be completed?

Ans X A 18
X B.25
& C.21
X D.20

Question ID : 97675518242

Q.8 The following pie chart shows the distribution of tourists from different nations in
India in the year 2017.
The number of tourists from Germany is what percent more than the number of
tourists from the nation with the least number of tourists?

Number Of Tourists

Ans X A 20%
X B.100%
« C.200%
X D.2%

Question ID : 97675518246
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Ans

Q.9 Simplify: 24 + 2x3 - 16 + 4 + 20% of 200

XA 24

o B.66
X C.84

X D.72

Question ID : 97675518229

Q.10 The value of three types of gold are in the ratio 2 : 1 : 3. If their worth increases by
10%, 20% and 5% in the market respectively, what will be the new ratio of their worth?

Ans o A 44:24:63
K B.44:24:32
X C.22:24:63
2 D.22:24:33
Question ID : 97675518239
Q.11 The following graph shows the number of students in a class who enrolled for
different elective subjects.
If 20% of the students were enrolled in English, how many of the students did not
enrol for any of the subjects?
25 4
20
£ 20 -+
(=
% 15
& 15
n 1z
e
o
S
o 10 4
£
5
a4
£ &9
o .
Math History English French
Subjects
Ans X A.8
X B.10
X C.12
« D.9

Question ID : 97675518248

Ans

86472
< A.108

X B.48
X C.60
o D.72

Q.12 The HCF of two numbers is 12. What is the LCM of the two numbers if their product is

Question ID : 97675518232
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Q.13 An art piece was sold at Rs 2700 after a discount of 10%. What was the marked price
on the item?

Ans X A.Rs 2100
X B.Rs 2400
< C.Rs 1800
& D. Rs 3000

Question ID : 97675518237

Q.14 In a committee 40% members have less than 5 years of membership. 20 members have
exactly 5 years of membership which is 80% less than the number of members having
more than 5 years. How many members have less than 5 years of membership?

Ans X A.120
« B. 80

< C.40
/< D. 100

Question ID : 97675518236

Q.15 Inside a cylinder of height 40 cm and radius 21 cm three spherical balls of radius 7 cm
are kept. What is the volume of the empty space inside the cylinder?

Ans X A.5000 cucm
o B. 51128 cucm
#< C. 4500 cu cm
& D.51120 cucm

Question ID : 97675518244

Q.16 The table gives the data of the people living in a residential area.
What approximate percent of males is below the age of 40?

AGE
GEMDER
=20=<40 =40 =60 =60
MEN 30 40 20
WOMEN 40 48 25
TOTAL 70 83 45

Ans X A 40%
& B.31%
o C.33%
X D.35%

Question ID : 97675518245

Q.17 John gave all of his candies to Neil and Harry in the ratio 1 : 3. What percent of the
candies was given to Harry?

Ans @ A 75%
X B.57%
X C.70%
25 D.60%

Question ID : 97675518235
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Q.18 The graph below shows the age frequency distribution of the students in a class.

What percent of the students are 24 years of age?

4.5 -

3.5

2.5

15

Age frequency
[ 5}

25
Age

27 30

Ans @ A 25%
< B.20%
X C.40%
< D.10%

Question ID : 97675518247

Q.19 The average of 4 numbers is 20. If the number 10 is also included, what is the new

average?
Ans A 18

/< B.16
X C.12
/< D.15

Question ID : 97675518234

Q.20 Seema travels from Bombay to Pune at an average speed of 40 km/h and on return she
was travelling at a speed of 60 km/h. What was her average speed in the entire

journey?
Ans X A.50km/h

X B.54km/h
X C. 36km/h
o« D. 48km/h

Question ID : 97675518241

Section : General English
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Q.1 Fill in the blank with the appropriate word.

It struck her that the short length of the broom made the sweepers almost double
down from the waist and retain that posture for hours on end all their working life,
leading to spinal pain.

Ans  # A chronic
< B. rogue
& C. epidemic
25 D. viral

Question ID : 97675518253

Q.2 Select the most appropriate meaning of the given idiom.

"That's the last straw"
Ans X A. Getting out of options

#< B. Straw is a metaphor of ideas of life
#< C. Last chance to do something

+# D. The patience has run out

Question ID : 97675518262

Q.3 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

It was

P: after 6 hours of chase

Q: quite challenging but

R: as he had not

S: the police caught and arrested him
obeyed the law.

Ans X A SPQR
« B.QPSR
X C.PSRQ
X D.RQPS

Question ID : 97675518255

Q.4 Select the most appropriate ‘one word ' for the expression given below.

"to completely satisfy yourself or a need, especially with food or pleasure, so that you
could not have any more™

Ans X A. elucidate
< B. nauseate
#< C. conciliate
" D. satiate

Question ID : 97675518263

Q.5 Select the most appropriate meaning of the given idiom.

"Let the cat out of the bag"
Ans X A. To be ready for a discussion
5 B. To have an upset stomach
4 C. To reveal a secret

5 D. To discuss an important matter

Question ID : 97675518261
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Q.6 Fill in the blank with the appropriate word.

I did have about how the book would be received, particularly as there
had been a misogynistic controversy over the protagonist.

Ans X A. coalition
2% B. Yarborough
& C. agastopia
" D. apprehensions

Question ID : 97675518254

Q.7 Select the most appropriate ‘one word ' for the expression given below.

A state, period, or place of isolation in which people or animals that have arrived from
elsewhere or been exposed to infectious or contagious disease are placed.

Ans X A. Integrate
< B. Combine
¥ C. Quarantine
< D. Turpentine

Question ID : 97675518251

Q.8 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

His commitment on national integrity / in the newly independent country / was total
and uncompromising.

Ans X A.No error
«” B. His commitment on national integrity
25 C. was total and uncompromising.

X D. in the newly independent country

Question ID : 97675518250

Q.9 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

Foreigners, especially / Greeks, began to dominating / the country.
Ans X A. the country.

X B. Foreigners, especially
" C. Greeks, began to dominating
< D. No error

Question ID : 97675518249

Q.10 Select the most appropriate 'one word ' for the expression given below.

"to mix up someone's mind or ideas, or to make something difficult to understand”
Ans X A.bumbershoots

" B. bumfuzzle
X C. bumble
< D. bumpkinish

Question ID : 97675518252
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Q.11 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

Every adult

P: a gang of minors abusing their classmate, it is time to

Q: but when we read about a youngster stabbed for his mobile phone or
R: generation feels some inadequacy in dealing with

S: the next generation,

stop and think.

Ans X A.SQPR
X B.PQRS
X C.SQRP
«" D. RSQP

Question ID : 97675518256

Q.12 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A MANUVERE
" B. MANOEUVRE
< C. MANOUVER
< D. MANOUVRE

Question ID : 97675518260

Q.13 Select the word that is closest in meaning (SYNONYM) to the word given below.
Reconnaissance
Ans  # A Survey
#< B. Coagulation
25 C. Cessation
2 D. Reconcile

Question ID : 97675518258

Q.14 Select the word that is the opposite meaning (ANTONYM) to the word given below.
"Lamentable"
Ans  # A Desirable
< B. Dependable
#< C. Unpalatable
X D. Detestable

Question ID : 97675518257

Q.15 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A PHARAFERNELIA
#< B. PARAFERNELIA
" C. PARAPHERNALIA
#< D. PARAFERNALIA

Question ID : 97675518259
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Q.16

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government
got many powers, including the ability to arrest people and keep them in prisons without a
trial. They also obtained the power to stop newspapers from reporting and printing news. The
people called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named
after the recommendations made the previous year to the Imperial Legislative Council by the
Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The
Rowlatt Act, also known as the Black Act, vested the Viceroy's government with extraordinary
powers to quell sedition by silencing the press, detaining political activists without trial, and
arresting any individuals suspected of sedition or treason without a warrant. In protest, a
nationwide cessation of work (hartal) was called, marking the beginning of widespread,
although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919,
about 10,000 Indians had assembled to protest against the Rowlatt Act. The British military
commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without
any warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379
and injured about 1,137 people. This incident came to be known as the Jallianwala Bagh
massacre. With this killing of innocent people, the British lost the trust of the Indian people.
Congress forced Britishers to investigate massacre of Jallianwala later, a tehkikat committee
was made by congress.

SubQuestion No : 16

The powers of Rowlatt act had the power to:
A: detain political activists without trial

B: fire at civilians

C: silence the press

S A BandC
@ B.Aand C
>~ C.

Only A
2 D.A,BandC

Question ID

1 97675518267
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Q.17

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government
got many powers, including the ability to arrest people and keep them in prisons without a
trial. They also obtained the power to stop newspapers from reporting and printing news. The
people called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named
after the recommendations made the previous year to the Imperial Legislative Council by the
Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The
Rowlatt Act, also known as the Black Act, vested the Viceroy's government with extraordinary
powers to quell sedition by silencing the press, detaining political activists without trial, and
arresting any individuals suspected of sedition or treason without a warrant. In protest, a
nationwide cessation of work (hartal) was called, marking the beginning of widespread,
although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919,
about 10,000 Indians had assembled to protest against the Rowlatt Act. The British military
commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without
any warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379
and injured about 1,137 people. This incident came to be known as the Jallianwala Bagh
massacre. With this killing of innocent people, the British lost the trust of the Indian people.
Congress forced Britishers to investigate massacre of Jallianwala later, a tehkikat committee
was made by congress.

SubQuestion No : 17
Read the below mention statements from the passage and choose the correct option.

A: In Jallianwala Bagh Massacre the troops killed 379 and injured about 1,137 people.
B: In 1919 the British made a new law named the Rowlatt Act.

25 A. A and B have no relation
25 B. A happened before B
« C. A happened as a result of B

25 D. B was a consequence of A

[ Question ID : 97675518269
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government
got many powers, including the ability to arrest people and keep them in prisons without a
trial. They also obtained the power to stop newspapers from reporting and printing news. The
people called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named
after the recommendations made the previous year to the Imperial Legislative Council by the
Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The
Rowlatt Act, also known as the Black Act, vested the Viceroy's government with extraordinary
powers to quell sedition by silencing the press, detaining political activists without trial, and
arresting any individuals suspected of sedition or treason without a warrant. In protest, a
nationwide cessation of work (hartal) was called, marking the beginning of widespread,
although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919,
about 10,000 Indians had assembled to protest against the Rowlatt Act. The British military
commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without
any warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379
and injured about 1,137 people. This incident came to be known as the Jallianwala Bagh
massacre. With this killing of innocent people, the British lost the trust of the Indian people.
Congress forced Britishers to investigate massacre of Jallianwala later, a tehkikat committee
was made by congress.

SubQuestion No : 18
Q.18 What is the meaning of seditious as derived from the passage?
Ans X A. Making loud promises and not fuffilling them.

< B. Quietly making decisions that would affect a larger group.
25 C. May or may not having a reason to respond.

¥ D. Causing people to rebel against the authority of a state.

[ Question ID : 97675518268

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government
got many powers, including the ability to arrest people and keep them in prisons without a
trial. They also obtained the power to stop newspapers from reporting and printing news. The
people called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named
after the recommendations made the previous year to the Imperial Legislative Council by the
Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The
Rowilatt Act, also known as the Black Act, vested the Viceroy's government with extraordinary
powers to quell sedition by silencing the press, detaining political activists without trial, and
arresting any individuals suspected of sedition or treason without a warrant. In protest, a
nationwide cessation of work (hartal) was called, marking the beginning of widespread,
although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919,
about 10,000 Indians had assembled to protest against the Rowlatt Act. The British military
commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without
any warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379
and injured about 1,137 people. This incident came to be known as the Jallianwala Bagh
massacre. With this killing of innocent people, the British lost the trust of the Indian people.
Congress forced Britishers to investigate massacre of Jallianwala later, a tehkikat committee
was made by congress.

SubQuestion No : 19
Q.19 The Rowlatt Act was also called
Ans X A. The dog's act

# B. The black act
25 C. The British reform
2< D. The full stop

Question ID : 97675518265
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government
got many powers, including the ability to arrest people and keep them in prisons without a
trial. They also obtained the power to stop newspapers from reporting and printing news. The
people called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named
after the recommendations made the previous year to the Imperial Legislative Council by the
Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The
Rowlatt Act, also known as the Black Act, vested the Viceroy's government with extraordinary
powers to quell sedition by silencing the press, detaining political activists without trial, and
arresting any individuals suspected of sedition or treason without a warrant. In protest, a
nationwide cessation of work (hartal) was called, marking the beginning of widespread,
although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919,
about 10,000 Indians had assembled to protest against the Rowlatt Act. The British military
commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without
any warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379
and injured about 1,137 people. This incident came to be known as the Jallianwala Bagh
massacre. With this killing of innocent people, the British lost the trust of the Indian people.
Congress forced Britishers to investigate massacre of Jallianwala later, a tehkikat committee
was made by congress.

SubQuestion No : 20
Q.20 What made the Indians lose trust on the Britishers ?

Ans X A. The powers of the government
/2% B. The Seditious conspiracy
25 C. The Rowlatt Act

4« D. The Jallianwala Bagh Massacre

Question ID : 97675518266

Section : General Hindi

Q.1 fafalad uy §, TR faeeul # A, 39 Aoy &1 9g7 H3 &) T ¢ v & forg 98
qgiife Ta & fars &1 fawea gt
fr=meR
Ans A FIRTH fOeR0 S arar
X B. f=m 3R fa=Ror
X C. faRur g A= #
X D. (= 7 fa=Ron

Question ID : 97675518270

Q2 PofafEd vy ¥, IR Ao 3 9, 39 e o1 997 73 o R T ae F Re g & 4
BT I 35T fApeu g1 )
IR 3t et e STt af & 7 wR =@ g |

Ans X A e
* B. Famef
o C. Tard
X D. dagrd

Question ID : 97675518278




Join Telegram Group "HaryanaJobs.in"

Q.3 fFufafad vy 8, aR Aol & |, 39 e o1 397 o oY Y 7 3 71 ae@ S gt
TR

Ans @ A HID
X B.fiy
X C. &
X D.7gHd

Question ID : 97675518273

Q.4 fgfafed vy #, 9 faeel § |, 39 ey &1 999 o3 o Wel areg e &1 fqeeu g
9% Y8 BTH TR 74T SR TH H & AT

Ans X' A IRA T
o B. GG IR
< c. g g
X D. Fyaras arag

Question ID : 97675518280

Q5 gl vy ®, aR el d |, 39 fAwer o1 997 o3 o fRT T8 etk &1 ugl ord
aren e g1
GSITHd T -
Ans X' A HGg HIAT
X B. G=NGERAT
& C. ST
X D.RAA AT

Question ID : 97675518282

Q6 fufafed uy §, IR el § 9, 39 98 Tve &1 999 o1 & areain & g e g
o1 fawea g
i HfSTS A U §F
Ans X A s
X B.T®
X C. 3

o D. g

Question ID : 97675518277

Q7 fmfafad uy d, IR fawel ® A, 39 I8 fawer &1 9= &3 &t fu T wrsg-gm & arf
o1 gl faweu 811
3] 3R 3
Ans X' A T 3R T
X B. I 3R U
X C. % 3R My
o D. FU 3R U

Question ID : 97675518276
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Q.8 fufifad uy §, IR Aol § 9, 39 e 1 994 S &) AT ¢ et & g 2reg
o1 fawer T 81
w.
Ans X AT
X B.q%d

X C. arge
o D. 319a

Question ID : 97675518275

Q.9 fufafad uy §, IR faeeul # A, 39 fawey o1 ag= o3 il & 7 depifeT o1 ad) o
arer faped g1
3T HPHTH HIc HHM -

Ans X' A 3OS % b1 § HHE B @
o B. 3TFT R TaY QR RIF gidT 8
X C. 3(UAT HTIET B ol
X D. TN & 1R g

Question ID : 97675518284

Q.10 fafafed uy A, IR el ¥ Q, I e &1 a7 o3 &l I T geray &1 Tt ord
qren fdpeq 81
BTY 1 1Y T Y1 -

Ans X' A TAMT

X B\
o C. T 3[YBR BT
X D. 30 I H HAT

Question ID : 97675518283

Q.1 ﬁaﬁ%auaﬁ,mﬁﬁﬁﬁﬁ,wﬁmmmﬁwﬁmﬁﬁwmw
R g

Ans g A 53
X B.fRUg
X C.ua
X D. g

Question ID : 97675518272

Q.12 ﬁaﬁ%auaﬁ,wﬁwﬁﬁﬁ,wﬁmmmﬁﬁm%ﬁwmﬂﬁ
e g

Ans g A SRIYAT
X B. %
X C. IS
X D. g

Question ID : 97675518271
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Q.13 fgfofed uy ¥, 9R el # |, 39 fAeed &1 797 B3 oY Yx U 3T 981 Ape 3|
Ans g A TEefof

X B. =yt

X C. wfit

X D. TgurHft

Question ID : 97675518274

Q.14 fgfifad vy &, 9R fawed § ¥, 39 [Py &1 907 o3 & 3T T4 arey & T uai & g
BT Y ST AU g1
3F & PTW HTH H P! {1

Ans  p A URTEIS
X B. RRIaH
X C. gausiys
¥ D. Wifqeias

Question ID : 97675518279

Q.15 ﬁaﬁ?uaﬁ,wﬁwﬁﬁﬁ,wﬁwmwﬁwﬁm%ﬁwmmw
e g

Ans X A TTY A gl i Ad BR TR 1Y 9|
& B. 1Y = Fgl, " K 7d HR, IR 91y ="
X C. Iy A Pe1 KT 7d Fx, W 9 79|
X D. 1Y A P, I i 7d R, T 91 7|

Question ID : 97675518281

Comprehension:

F fou M e & a1e 5 Uy AU T €1 39 TR &Y eHgde U SR IR fadwedt § § udd
Uy &1 Faraq IR g |

fRren Faa quft Tt & Sy Sfia &1 T 3= 9T 8, 51 fob T Aioha H1af & A1y AT =Y
A ST BN Sl I TG SR A D1 S Thell b UGTS T THB IV IJHS BT &t FdpTar &

3 3% s fiia 37| STa oA Ig AT & 3 1 gor & a1 9 o e Y It BT WIeM g,
At a8 I UM 3 3BT 3% T B STl ) F F5 AT 1 o1 % B amg H € i o o
Tt Y U GIRARY 3R FRW fS BT URT 37 BT G Bidl| 5 e &1 U qais

PIYR §- S BT JIF BT UGN HRAT AT Bt Heqmsit H I8 WaR1 Jay SaTel g1l 8 & I
FRefe sigr s I8 ST, Fifh 39 o aifge 47 T8¢ a1 We Q € gwaifvd g g

SubQuestion No : 16
Q.16 3% | P - AT KT BT waigardt T8 32
Ans XA.HTcﬂ‘T*IT
X B. fania
« C. Ffspg
X D.$HS

Question ID : 97675518289
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Comprehension:

¥ fu M eI & a1e 5 Uy AU T €1 39 TR &Y eHgde ug SR IR fadwedt § § udd
U9 ST Farad IR g |

Rren Haa aft gt & snfdres Sfia &1 T o Fct B, 9Id b I wfoha w1t & Wiy Sifig =y
Y ST 81| Sl A TE ST T} B T bl fob UETS AT GHBIU TGS BT b d [Hepra- &
o 3% S fa B9 SIe ST 98 S § % 1 Goi & a1 91 o Teat Bl it T Wi g,
Tt I8 I UF BT 3BT ISP T H ST 8| F I8 APT T o7 o BIET g A & AR o\ A
Tl DY AU BIREARY 3R FRIT fS BT U 37 BT R B1d| Woet o1 U Faffeies Agagu
PRIUR §- S DI JI BT UGN AT RIaT| Bt Heqmsit H g WaR1 Jad Sarel gid § & I
e sigr SR I8 ST, i 39 oy Sifge 37 T8¢ 1 We Q € Gwaifvd e ¢

SubQuestion No : 17
Q.17 T ® AP F TR -
Ans X A TIRIRD %A € UTHHE Heeyul dcd 8
X B. IRING 47§ O §fG DT SMa=adhdl Ta! gial
o C. IR 97 & THeieRY iR o §fg 31 ot s gt 8
X D. YRR 47 5=} DI HH SIRAR ST §

Question ID : 97675518287

Comprehension:

) fou M e & a1e 5 Uy AU T § 1 39 TR &Y eHgde ug SR IR fadwedt § § udd
Uy &1 Farad IR g |

Rren Haa qft st & snfdres Sia &1 U S F7ct B, 9Id b I foha sraf & Y sifie =g
Y ST | T U g TR AL B} SN Fepeht {5 URTS A1 WHD IO AGYS BT 8t FApre &

3 3% s fiia 37| STa ST I% AT & 3 1 gor & a1 9 o e Y I 7 WIeM g,
Tt 98 I U BT 38T 376 U B STl 5] T A% AT FHoran o7 fos B oy H & IR sm A
T BT AU SIRARY 3R UM §fG H1 UR= S HT 3R 3| Tod HT TP Jaifeip Ageaqui
PIYR §- S BT JI BT UGN HRAT RG] Bt Hesit H I8 WeRT Jad Sarel g1 § 6 I
e Sigr s I8 ST, i 39 oy § g 37 T8-S a1 We @ € 9waifvd g ¢

SubQuestion No : 18
Q.18 TR & AR T P FRYS §igr a9 SIa1 22
Ans X A O9 IY FHefmel I g diftrd 7 o fear sme
F B. T8 IS Withd YA 7 a1 SQ
X C. 9 3 IRING 91 ¥ 7 Sl Sy
X D. §19 39 R Qula: SR 7 fam g

Question ID : 97675518288

Comprehension:

H fu M e & w1e 5 Uy AU A €1 39 i &Y eHgde U SR IR fadmed § § udd
U% &1 Jarad IR A |

Rren Haa qft st & snfdres Sia &1 U S F7dt §, 919 b I wfoha sraf & wry sifie =g
A ST 8| Sl I TG SR A D1 S Thell fob UGTS T THB I IGHS BT &t FidpTen &
frgm 3% 3 ia B S S I8 ST § 3 I G & a1 91 & 7gdl o) Wit BT |re B,
Tt 98 I UM F1 T IS T B ST 8| H 98 ST e of b St g B & ki s\ A
! B 3 SRR SR H= g F1 uRer 3 &7 SfawR fBrdl| B d &1 U Faifvs

PTIUR §- S I [ BT YANT BT RRar1| BT wemaft § I8 TRl T Sa1e] giaT & & J
R sig TR I8 WTE, i 39 3y # g 47 7378 a1 Iem | € wwifd g g

SubQuestion No : 19
Q.19 dTS & ITAR e &1 o §2
Ans X A fI¥g W SUBR Ut BT

o B. I & TN &A1
X C. o\ &
< D. &H I UIed =T

[ Question ID : 97675518286
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Comprehension:

Fr fow T iR & W1 5 Uy AU A B | 39 TN B ergde ug ok IR fawed! d ¥ udd
UY &1 Farad IR g |

TR Bad qvit Tt & 3nfdres Siia &1 U 3% §7dt 8, S b I Withd Braf & Wiy 3ifis =
ST BN Sl I TG SR AT SIS qhell b UGTS T THB IV IJHS BT &l FdbTar &
o 3% s fia B9 SIe ST 98 T § % 1 Goi & a1 91 & Tedt Bl It T Wi g,
it 98 I IR &) 38T I T B ST 7] H U8 A9 Rl of fob SIS 3y B & wriies sm A
Tl DY AU BIREARY 3R FRI S BT U= 37 BT awR B1d| Wet o1 U Faffeies Agagu
PRIUR §- S BT JI- BT YANT HRAT R Bt Heqrsit H g WaR1 Jad Sarel gidl § i I
e sigr SR I8 ST, Fifh 39 o Sifge 31 T8¢ a1d We § € gwaifvd e ¢

SubQuestion No : 20

Q.20 39 3¢ BT BIS IUYa XMuP-
Ans X A IRIR® 99

X B. §fg & ma=gdhdl
o C. S &1 "fchy ganT
x D. fRAfpa e

Question ID : 97675518290

Section : Discipline1

Q1 velocity defect is defined as the:

Ans X A
Product of maximum velocity and local velocity at any point

B
Difference between maximum velocity and local velocity at any point

X C. Ratio of maximum velocity and local velocity at any point

X D. sum of maximum velocity and local velocity at any point

Question ID : 97675518306

Q.2 AFlat plate 1.5m x |.5m moves at S0km/r in stationary air of density 1.15 kg per cubic meter. If the coefficient of Lift

is 0.75 , determine the lift force,

Ans XA 470.50N
X B. 208.96N
X C. 100.58N
« D. 187.20N

Question ID : 97675518310

Q.3  Water is flowing through a horizontal pipe of diameter 200mm at a veloeity of 3m/s. A cireular solid plate of diameter
150mum is placed in the pipe to obstruct the flow. Find the loss of head due to obstruction in the pipe if coefficient of
contraction is .62,

Ans @A 3.311lm
XB 1.125m
X C 5742m
XD 245Im

Question ID : 97675518307




Join Telegram Group "HaryanaJobs.in"

Q4 are used for removing grit and sand in preliminary treatment of sewage.
Ans XA Screenings
X B. Skimming tanks
& C. Vacuators
+ D. Detritus tanks
Question ID : 97675518294
as refers to the action of cutting and tearing of solid waste
Ans X A. Pulverisation
+ B. Shredding
X C. Incineration
X D. Composting
Question ID : 97675518302
Q.6 A 25cm diameter pipe carries oll of specific gravity 0.9 at a velocity of 3nv's. At another section the diameter is 20cm.
Find the mass rate of flow of oil.
Ans

X A 145.89%kg/s
X B. 125.48kg/s
« C. 132.23kg/s
X D. 180.50kg/s

Question ID : 97675518304

Q.7 Calculate the diameter of a circular sewer laid at a slope of 1 in 400 when it is running half full, and with a velocity of

1.9m/s. (n in Manning's formula = 0.012).

Ans X' A 3.05m
B 1.23m
X C. 520m
XD 4.42m
Question ID : 97675518295
Q8 Hydraulic gradient line is defined as:
Ans X A

The line representing the sum of pressure head and suction head with respect to some reference line

B

The line representing the sum of pressure head and datum head with respect to some reference line

xC.

The line representing the sum of pressure head. damm head and velocity head with respect to some reference line

X D.

The line representing the sum of pressure head. damim head and suetion head with respect to some reference line

Question ID : 97675518308
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Q.9  Asperls 10500: 2012, the permissible limit of Free resicdual chlorine in the absence of alternate source in drinking
water is:

Ans X A 0.3mg/l
X B 1.5mg/l
+ C. 1.0mg/l
X D. 0.2mg/l

Question ID : 97675518291

Q.10 As per IS 4954-1968, the acceptable indoor noise level (in dB(A)) for Restaurants is
Ans X A 25-30

X B. 35-40

« C. 50-35

X D. 30-35

Question ID : 97675518300

Q.11 The distance measured perpendicular to the boundary of solid bodv, by which the bonndary should ke displaced o
compensate for the reduetion in flow rate on account of boundary layer formation is known as:

Ans X A Energy thickness
X B. Boundary layer thickness

X C. Momentum thickness
« D. Displacement thickness

Question ID : 97675518309

Q12 As per IS 4954-1968, the acceptable indoor noise level (in dB(A)) for Hospitals is:
Ans XA 40-45

X< B. 25-30

X C. 30-35

« D. 35-40

Question ID : 97675518298

Q13 is a Primary air pollutant.

Ans X A Formaldehyde
+ B. Sulphur dioxide

< C. Ozone

X D. Sulphuric acid

Question ID : 97675518296
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Q.14

Ans A Suspended solids
X B. Colloidal solids

X C. Settleable solids
X D. Dissolved solids

are those solids which remain floating in sewage.

Question ID : 97675518292

Q.15 A 2% selution of a sewage sample is incubated for 5 davs at 20 degree Celsivs. The depletion of oxygen was found to

be 4ppm. Determine the BOD of the sewage.

Ans > A 350ppm
X B. 100ppm
« C. 200ppm
X D. 400ppm

Question ID : 97675518293

Q.16

Ans X A 500
X B. 300
X C. 450
& D. 760

1 Atmospheric pressure is equal to mm of Hg.

Question ID : 97675518299

Q.17 In composting of refuse, the final end product which is a brown coloured edourless lnnocuous powdery mass is called

As:

Ans X A Leachate
X B. Sludge

X C. Solid waste
« D. Humus

Question ID : 97675518303

Q.18 A sound pressure level on reference scale of

decibels.

Ans XA 2
X B. 200
X C. 2000
« D. 20

{in micro Pascal), is vsually adopted to express sound levels in

Question ID : 97675518297
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Q.19 is characterized by a change of sound pressure of at least 40 dB within 0.5 second with a duration of less than
one second,

Ans X A. Uninterrupted noise
& B. Intermittent noise
X C. Continuous noise

« D. Impulse noise

Question ID : 97675518301

Q.20 The flow in which flnid moves radially inwards towards a point where it disappears ar a constant rate is known as:
Ans & A Sink flow

X B. Source flow

X C. Uniform flow

X D. Superimposed flow

Question ID : 97675518305

Section : Discipline2

Q.1  The field capacity and permanent wilting point for a given 0.8m root zone soil are 33 and 10 percent respectively. At a
given time. the soil moisture in the given soil is 20 percent when a farmer irrigates the soil with 250mm depth of water.
Assuming bulk specifie gravity of the soil as 1.6, determine the amount of water wastad from the consideration of
irrigation.

Ans XA 33.54%
X B. 10.45%
X C. 40.70%
+ D. 23.20%

Question ID : 97675518321

Q2 pylk modulus is defined as:

Ans & A Ratio of direct stress and volumetric strain
X B. Difference of direct stress and volumetric strain
X C. Product of direct stress and volumetric strain

& D. Sum of direct stress and volumetric strain

Question ID : 97675518324

Q.3 A 20m chain used for a survey was found to be 20,10m at the beginning and 20,30m at the end of work. The area of the
plan drawn to a scale of lem = 8w was measured with the help of planimerter and was found to be 32.56 sq.cm. Find the
true area of the field.

Ans X A 1094 sq.m
X B. 3541 5q. m
Xc 51125q.m
«D. 21265g. m

Question ID : 97675518330
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Q.4 Error may rise due to want of perfection of human sight in observing and of touch in manipulating instruments is known
as;

Ans X A Instrumental error
X B. Accidental error
+ C. Personal error
X D. Natural error

Question ID : 97675518329

as is a Non-recording rain gauge.

Ans X' A Weighing bucket rain gauge
X B. Siphon's rain gauge
X c. Tipping bucket rain gauge

+ D. Symon's rain gauge

Question ID : 97675518316

Q6 A Tysimeter is used to measure:

Ans A Potential evapotranspiration
X B. Runoff
X C. Precipitation

X D. Evaporation

Question ID : 97675518322

Q.7  The diamefers of an impellar of a centrifugal pump at inlet and outlet are 30cm and 60cm respectively. Determine the
minimum starting speed of the pump if it works against a head of 30n1,

Ans X A 704.56 rpm
X B. 400.59 rpm
X c. 307.52 rpm
« D. 891 .80 rpm

Question ID : 97675518314

Q.8 is the direct ranoff hvdrograph resulting from one centimetre of excess rainfall generated uniformly over a
caichment area at a constant rate for an effective duration.

Ans X A S-curve
X B. Hyetograph
« C. Unit Hvdrograph

X D. Mass curve analysis

Question ID : 97675518318
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Q.9 A surveyor measured the distance between two points on the plan drawn 1o a scale of lem = 40m and the result was
468m. Later however, he discovered that he used a scale of lem = 20m. Find the true distance befween the poinfs.

Ans XA 504m
+ B. 936m
X C. 1052m
X D. 748m

Question ID : 97675518328

Q.10 Find the minimum diameter of a steel wire, which is used to raise a load of 4000 N if the stress in the rod is not to
excead Q5MN/ sq. mefer.

Ans X A 3.54 mm
« B. 7.32 mm
< C. 10.40 mm.
A D. 547 mm

Question ID : 97675518323

Q.11 Let M be the crder number of relevant flood and M be the total mmmber of anuwal floods, then the probability P of sach
flood being equalled or exceaded is given by

Ans A P=m/(N+1)

XB P=mN
XC P=m/(N-1)
XD P=m-N

Question ID : 97675518319

Q.12 The ratio of the power available at the shaft of the turbine to the power delivered to the Runner is known as

Ans X A Overall efficiency

X B. Volumetric efficiency

« C. Mechanical efficiency

X D. Hydraulic efficiency

Question ID : 97675518312

Q13 is equal to the product of mass and acceleration of the flowing fluid and acts in the direction opposite to

the direction of acceleration.
Ans

X A. Pressure force
X B. Viscous force
+ C. Inertia force
X D. Gravity force

Question ID : 97675518315
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Q.14

If the Froude nmumber is less than one. then the flow in open channel is said to be:

Ans X A Torrential flow

« B. Sub-critical
X C. Critical
X D. Super critical

Question ID : 97675518311

Q15 Anp isohyet is a contour of:

Ans X A Equal evaporation
X B. Equal transpiration
« C. Equal rainfall

X D. Equal depth

Question ID : 97675518317

Q.16 A cantilever of length 2.5m carries a vniformly distributed load of 16 4KN per meter length over the entire length. If the
moment inertia of the beam is 79500000 mm*d and value of E = 200000 IV / sq. milli meters. determine the deflection at

the free end.

Ans X A 4.78mm
X B. 7.84mm
+ C. 5.03mm
XA D. 2,56mm

Question ID : 97675518325

Q.17
Identify the type of draft tube.

= \-
Ans X A Simple elbow tube

X B. Conical draft tube
« C. Moody spreading tube

X 0. Draft tube with circular inlet and rectangular outlet

Question ID : 97675518313
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Q18 Guest's theory is also known as:
Ans % A. Maximum principal stress theory
X B. Maximum shear strain theory

X €. Maximum principal strain theory

+ D. Maximum shear stress theory

Question ID : 97675518327

Q.19 AFALSE statement regarding the assumptions made in the derivation of shear stress produced in a cireular shaft
subjected to torsion.

Ans % A. The material of the shaft is uniform throughout
X B. The shaft is of uniform circular section throughout

« C. The twist along the shaft is non-uniform
X D.

Cross sections of the shaft. which are plane before twist remain plain after twist

Question ID : 97675518326

Q20 is a crop of Rabi season.

Ans X A Maize
+ B. Wheat
# C. Rice
# D. Cotton

Question ID : 97675518320

Section : Discipline3

Q1

The systematic departure of the declination from its mean value during a period of 24 hrs is known as:

Ans X A TIrregular variation

X B. Secular variation
X C. Annual variation
« D. Diurnal variation

Question ID : 97675518333

Q.2 Fipd the combined correction for curvature and refraction for distance of 3400m.

Ans X A 5.784m
X B 3.124m
XC 1.457m
« D. 0.778m

Question ID : 97675518335
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@3 Which method is used to locate the contours in case of hilly terrain?
Ans X A Squares method

« B. Tacheometric method
& C. Estimation method
# D. Direct method

Question ID : 97675518334

Q4 For ultimate limit states, the code specifies a partial safety factor of steel as:

Ans A 115
XB 2
xc 1
XD. L5

Question ID : 97675518339

Q.5 Anoffset is laid out 2 degree from its trve direction on the fleld. If the scale of the plotting is 10m o Lem. find the
maximun length of the offset so that the displacement of the point on the paper may not exceed 0.2 5mm.

Ans XA 4.51m
X B 577m
« C. 7.16m
X D. 2.74m

Question ID : 97675518331

Q.6 AsperIs 456 2000, for prismatic beams of rectangular sections and slabs of nniform thickness and spans up-to 10m,
the basic span to depth ratio for continuous spans is

Ans XA 10
X8 7
xc. 20
¥ 0. 26

Question ID : 97675518347

Q.7 If the whole circle bearing (WCB) is between 180 © and 270 °, then the Reduced bearing (RB) is:

Ans X' A RB = 180° - WCB
X B RB=WCB
+ C. RB=WCB -180°
X D. RB=360°-WCB

Question ID : 97675518332
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Q.8 are conducted to collect data on the mumber of vehicles and or pedeswians that pass a point on a highway
faeility during a specified time period.

Ans X A. Spot speed studies
X B. Parking studies
« C. Volume studies
X D. Travel time and delay studies

Question ID : 97675518349

Q.9 Calculate the modular ratio for M30 grade concrete if the permissible Compressive stress of concrete in bending is 10

MPa.
Ans A 033
X B B.11
X C 644
X D. 7.18
Question ID : 97675518340
Q.10 15 the operation of lifting a weight from one location and moving it to another location which is at a reasonable

distance and then dumping it.

Ans X A Pile driving
« B. Hoisting
X C. Hauling
X D. Conveying

Question ID : 97675518336

Q11 A False statement regarding the assumptions made in the design of riveted joints.
Ans X A. Stress in a plate is assumed to be uniform

+ B. Rivets are assumed to be stressed unequally
X C. Bending of rivet is neglected

X D. Friction between the plates is neglected

Question ID : 97675518344

Q12 The part of the delay during which the vehicle is at the rest is known as
Ans X' A Operational delay

X B. Travel time delay

X C. Fixed delay

« D. Stopped time delay

Question ID : 97675518350
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Q.13 The speed value that occurs most frequently in a sample of spot speeds is known as

Ans A Modal speed
X B. ith percentile spot speed
X C. Average speed
X D. Median speed

Question ID : 97675518348

Q.14  Atie bar 50mm x Smm is to carry a load of BOKN. A specimen of the same quality steel of cross sectional area 250 sq.
min was tested in the laboratory. The maxinmum load carried by the specimen was 125KN. Find the factor of safety in
the design.

Ans XA L5
B 25
XcC 1
XD 2

Question ID : 97675518346

Q15 A False statement regarding the conveyors in construction.

Ans % A. There are no waiting periods
X B. Conveyors facilitates continuity in operation
X . Conveyors results in time saving

« D. Conveyors decreases the output

Question ID : 97675518337

Q16 Tn columns, Effective length factor is defined as
Ans A Ratio of effective length to unsupported length
X B. Sum of effective length and unsupported length
X c. Difference of effective length and unsupported length

X D. Product of effective length and unsupported length

Question ID : 97675518342

Q17 What is the maximum slenderness ratio for a strut connected by a single rivet at each end?
Ans X A 350

X B. 250

« C. 180

X D. 300

Question ID : 97675518345
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Q.18 The distance measured from the exposed concrete surface to the nearest surface of the reinforcing bar is known as

Ans

« A Clear cover
& B. Normal cover
& C. Effective cover

& D. Nominal cover

Question ID : 97675518341

Q.19 In which type of organization structure, an attempt is made to preserve the strong points of both the line personnel and

Ans

staff personnel?
X A. Line organization
X B. Functional organization
X C. Line and staff organization

+ D. Matrix organization

Question ID : 97675518338

Q.20 What is the value of impact factor (in %) for frames supporting lifts and hoists?

Ans

XA 20
X B. 50
X c. 40
¥ D. 100

Question ID : 97675518343

Section : Discipline4

QA1

Ans

Two forces of magnitude 10N and SN are acting at a point. If the angle between the two forces is 60°. Determine the
magnitude of the resultant force.

X A 548N

« B. 15.02N
X C 11.78N
X D. 22 4TN

Question ID : 97675518359

Q.2

Ans

The SI unit for moment of force is
X A Joule

X B. Watt

X C. Pascal

« D. Newton metre

Question ID : 97675518358
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Q.3  The elevation of two points A and B on an asrial photograph ave S00ft and 3651t respectively, The scales at these points
o1 the photograph are 1: 10000 and 1:9870 respectivelv. Determine the elevation at point C, if the scale at the C is
1:3000.

Ans & A 1500ft
X B. 30001t
X C. 1200ft
X D. 800ft

Question ID : 97675518353

Q.4 Three forces F1, F2 and F3 are acting on a body as shown in figure, and the body is in equilibrinm. If the magnitude of
force F3 is 400N. Find the magnitude of force F1.

Fy= 400N

Ans X A 250N
X B. 150N
X C. 100N
' D 400N

Question ID : 97675518360

Q.5 Which type of drains are used to relieve pore pressures at slopes of cuts and embankments on the highway?
Ans X A Longitudinal drains

X B. Transverse drains

« C. Horizontal drains

X D. Drainage blankets

Question ID : 97675518355

Q.6  The distance travelled by a vehicle between the time, the driver observes an object in the vehicle's path and the time the
vehicle actually comes to rest is longer than the braking distance is known as

Ans X A. Passing sight distance
X B. Braking distance
X C. Displacement

« D. Stopping sight distance

Question ID : 97675518357

Q7 Fluidised bed incinerators can be controlled more effectively to achieve
Ans X A. Less consistent

X B. Higher air emissions

+ C. Less residual ash

X D. Lower energy conversion efficiency

Question ID : 97675518365




Join Telegram Group "HaryanaJobs.in"

Q8 A False statement regarding the objectives of incineration.
Ans X A. Recovery of energy from waste

X B. Stabilization of wastes
X C. sterilisation of waste
« D. Non reduction of volume

Question ID : 97675518370

Q.9 is a non proprietary technology that requires the composting mixture to be placed in piles that are mechanically
in the presernce of air.

Ans & A Aerated static pile composting
X B. Anaerated static pile composting
X C. Vermicomposting

X D. In vessel composting system

Question ID : 97675518369

Q.10 A longitudinal system used to prevent an ervant vehicle from crossing the portion of a divided highway separating the
travelled ways for traffic in opposite direction is known as:

Ans X A Gutters
+ B. Median barriers
X C. Curb
X D. Guard rails

Question ID : 97675518354

Q11 What is the mode of action of Jaw crushers (size reduction equipment) ?
Ans A Breaking

X B. Slicing

X C. Mashing

X D. Grinding

Question ID : 97675518368

Q.12 1 which phase of the study in the highway location process, the positions of the feasible routes are set as closely as
possible by establishing all the control peints and determining preliminary vertical and horizontal alignments for each?

Ans X A Final location survey
X B. Office study of existing information
X C. Reconnaissance survey

« D. Preliminary location survey

Question ID : 97675518352
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Q.13 A body weighing 2000N is suspended with a chain AB 2m long. It is pulled by a horizontal force of 320N as shown in
fignre. Find the force in the chain.

Ans XA 5074N
X B. 3457N
X C. 1485N
 D. 202.5N

Question ID : 97675518361

Q.14 A driver with a perception - reaction time of 2 3sec is driving at 63mith when she observes that an accident has bloclked
the road ahead. Determine the distance the vehicle would move before the driver could activate the brakes. The vehicle
will continue to move ar 65mi'h during the perception - reaction time of 2. 5sec,

Ans X A 477.58ft
X B. 378.55ft
« C. 23891t
X D. 500.74ft

Question ID : 97675518356

Q.15 A simply supported beam AB of length 9m , carries a uniformly distributed load of 10KN/m for a distance of 6m from
the left end. Caleulate the reaction at A.

10 kb
T

—

am

Ans X A 35KN
X B. I5KN
« G 40KN
X D. [OKN

Question ID : 97675518362

Q16 The centre of gravity of a parallelogram lies at

Ans A A point where its diagonals meet each other

« B. Ends
X C. 1/3rd from the base
XA D. 2/3rd from the base

Question ID : 97675518364
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Q.17 Which method of land filling involves the deposition of waste within preconstructed bounded area?

Ans X A. Trench method
X B. Depression

& C. Area method
+ D. Cell method

Question ID : 97675518366

Q18 Select the False statement regarding the laws of solid friction.

Ans X A
The force of friction is equal to the force applied to the surface. so long as the surface is af rest

« B.

The limiting frictional force depends upon the shape and areas of the surfaces in contact

xcC.

The limiting frictional force bears a constant ratio to the normal reaction between two surfaces

X D.

The force of friction acts in the opposite direction in which surface is having tendency to move

Question ID : 97675518363

Q19 A False statement regarding the benefits of compaction is

Ans X A
Reduction in the quantity of materials to be handled at the disposal site

« B. Decrease in efficiency of collection and disposal of wastes

X C. Increased life of landfills

X D. Economically viable waste management system

Question ID : 97675518367

Q.20 The total number of vehicles that park in a stady area during a speeific length of time, usually a day is known as

Ans X A Parking accumulation
+ B. Parking volume
X C. Parking load
X D. Parking duration

Question ID : 97675518351

Section : Discipline5

Q.1 Asper[S 67-2001 the sign that is used to caution the driver of the danger of side winds which endanger the lives of
travellers is:

Ans XA Lane closures
" B. Sudden side winds
X C. Series of bends

X D. Reduced carriageway

Question ID : 97675518385
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Q.2 The minimum allowable factor of safety against sliding in the case of cantilever retaining wall is
Ans XA b

+ B 1.5

XC 25

XD 3

Question ID : 97675518377

@3 Rigidity factor is defined as
Ans % A. Sum of contact pressure and Tyre pressure

X B. Product of contact pressure and Tyre pressure

X C. Difference between contact pressure and Tyre pressure

+ D. Ratio of contact pressure and Tyre pressure

Question ID : 97675518383

Q.4  Asample of sand has a volume of 1000ml in its namral state. Its minimum volume when compacted is 840ml. When
gently poured in a measuring cylinder, its maximum volume is 1370ml. Determine the relative density.

Ans XA 47.52%
X B. 82.41%
X C. 54.77%
+ D. 69.81%

Question ID : 97675518373

Q.5 A beaker is filled with 1L liquid & weigh of the same was fonnd 1o be 64, What is the specific weight of the liquid ?
Ans % "
XA 0.6%107 N/m?
X B 6*107 N/m®
¥ C 6*10° N/m’

XD 0.6%10° N/m’

Question ID : 97675518388
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Q6
Which is the conjugate beam for the real beam shown in the figure.
o -
Ans
o A AN N —
X8 B &
xc.
X D.
~ ol R
Question ID : 97675518380
Q7
Identity the type of pile.
|
F —=
Dredge level
r
Ans

X A. Fixed earth support pile
+ B. Free cantilever sheet pile
X C. Free earth support pile

X D. Anchored sheet pile

Question ID : 97675518376
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Q.8 cCalculate the equivalent radius of resisting section of 20cm slab, given that the radius of contact area wheel load is
L5em

Ans X A 20.41lcm
X B. 24.78cm
X C. 30.74cm
+ D 14.07cm

Question ID : 97675518384

Q9 The number of bucksts of Pelton wheel is 25m and diameter of pitch iz 1.5 m.What is the diameter of the jet ?

Ans X A 0.5m
X B lm
+ C. 0.075m
X D. 2m

Question ID : 97675518390

Q.10 Estimare the capillary rise in a soil with a void ratio of 0.60 and an effective size of 0.01mm.Take C = 15 sq. mm

Ans XA 1470mm
X B 3114mm
X C. 5025mm
+ D. 2500mm

Question ID : 97675518374

Q.11  Which method for mat foundations is based on the assumption that the soil behaves like an infinite number of

individual independent elastic springs?
Ans A Simplified elastic method

& B. Non linear elastic method
X . Rigid beam method

X D. Elastic method

Question ID : 97675518378

Q12 A False statement regarding the assumptions made for the analysis of trusses.

Ans X A
All members are connected only at their ends by frictionless ball and socket joints in space trusses

 B.

The centroidal axis of each member does not coincide with the line connecting the centres of the adjacent joints

X C.

All members are connected only at their ends by frictionless in plane trusses
X D.

All loads and support reactions are applied only at the joints

Question ID : 97675518379
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Q.13 In soil stabilization, is a semi hardened or unhardened mixture of water, Portland cement and finely crushed soil
and this mixture has less cement content,

Ans X A Plastic soil cement
+ B. Cement modified soil
X C. Soil cement
X D. Cement stabilized soil

Question ID : 97675518386

Q14 can be used to determine the quantitative influence lines.

Ans X' A. Flexibility matrix method

X B. Stiffness method
X ¢. Maxwell's reciprocal theorem

+ D. Muller Breslau's principle

Question ID : 97675518381

Q15 A False statement regarding the assumptions of Coulomb's wedge theory.

Ans % A. The sliding wedge itself acts as a rigid body

X B.
The slip surface is a plane surface which passes through the heel of the wall

X C. The backfill is dry. cohesionless and homogeneous

« D. The wall surface is smooth

Question ID : 97675518375

Q.16 is a force method.

Ans X A Slope deflection method
X B. Kani's method
+ C. Consistent deformation method
X D. Stiffness matrix method

Question ID : 97675518382

Q.17 The most accurate method for the determination of water content in the laboratory is
Ans A oven drying method
X B. Pycnometer method

X C. Sand bath method
/A D. Calcium carbide method

Question ID : 97675518372
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Q.18 What is the hydraulic mean depth of a rectangular duct having 5m width and 3m depth
Ans XA 32m

X B 2m

+C 1.3m

X D. 4m

Question ID : 97675518387

Q19 The Mass of solids per unit total volume of soil mass is known as

Ans A Dry mass density
X B. Submerged mass density
X ¢. Bulk mass density

X D. Saturated mass density

Question ID : 97675518371

Q20 Francis tube is a:
Ans X A. Impulse turbine

X B. Turgo turbine
+ C. Reaction turbine

& D. Screw turbine

Question ID : 97675518389
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